aa

* Spare parts for the professional sector: —

7] S I
Espresso coffee machines

Suitable for:

VIBIEMME

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included

Rel. 2017-08241354




GroUp,

)
% VIBIEMME LR

BREW GROUP WITH SOLENOID VALVE

CHIMAERA-CUBO
DOMOBAR SUPER
DOSAPLUS-MERCURY
REPLICA-REVOLUTION

VBMO102

Positions without LF code no.: upon request




o3 VIBIEMME
Grot
Position LF code no. Description
1 1439001 CAP g 16 mm FOR BREW GROUP
2 1186326 PTFE FLAT GASKET g 22x16x2 mm
3 1160517 WATER FILTER @ 8.5x22 mm
4 1501566 NOZZLE M6x1 HOLE @ 0,5 mm
5 1186328 PTFE FLAT GASKET @ 35x30x2 mm
6 1192171 UPPER CHROME-PLATED SLEEVE
7 1786283 FLAT PTFE GASKET @ 25.5x21x5 mm
8 1786291 FLAT PTFE GASKET @ 9.5x6x2 mm
11 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
12 1081016 SHOWER SCREEN g 60 mm
12 1081116 SHOWER SCREEN @ 60 mm
12 1081216 SHOWER SCREEN g 60 mm
12 1081516 SHOWER @ 60 mm
13 1186721 FILTER HOLDER GASKET g 74x57.5x8 mm
13 1186722 FILTER HOLDER GASKET @ 73x57x8 mm
13 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
13 1186724 FILTER HOLDER GASKET @ 73x57x9 mm
13 1486724 GASKET FILTERHOLDER @ 73x57x10 mm
14 1120361 COIL PARKER YBO09 220/230V 9W 50/60Hz
15 1120339 3-WAY MECHANICAL COMPONENT PARKER
16 1120280 SOLENOID VALVE ODE 3 WAYS 110V
16 1120349 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
17 1184006 LOW CYLINDER HEAD SCREW M4x12
18 1186612 O-RING 02025 VITON
19 1184010 LOW CYLINDER HEAD SCREW M6x10
21 1192169 CHROME-PLATED LATERAL CAP
22 1186384 COFFEE GROUP GASKET 80x70x2 mm
22 1186508 COFFEE GROUP GASKET 77x73x2 mm
23 1528622 HEXAGON HEAD SCREW M8x16
25 1349007 DRAIN CHROMIUM-PLATED FITTING
26 1192174 CHROME-PLATED OUTLET FITTING
50 1069001 PLASTIC MEASURING SPOON 20 ml
51 1069002 STAINLESS STEEL MEASURING SPOON 20 ml
52 1384003 BLACK SHOWER CLEANING BRUSH
53 1384002 BRUSH FOR MAINTENANCE
54 1384001 BRUSH FOR COFFEE SHOWER
55 1385002 NYLON COFFEE TAMPER @ 50/57 mm
56 1385042 POLISHED ALUMINIUM TAMPER @ 58 mm
56 1385053 ANODIZED ALUMINIUM TAMPER @ 58 mm
57 1385600 DYNAMOMETRIC MANUAL COFFEE TAMPER @ 57mm
101 1165126 COMPLETE FILTER HOLDER 1 CUP VIBIEMME
102 1165124 COMPLETE FILTER HOLDER 1 CUP VIBIEMME
103 1165125 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME
104 1165127 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME
105 1160251 1 CUP FILTER 6 g
106 1160335 1CUPFILTER 7 g
107 1160337 FILTER 2-CUP 14 g @ 70x24,5 mm
108 1160252 FILTER 2-CUP 12 g
109 1022501 SINGLE SPOUT ¢ 3/8"
110 1022502 DOUBLE SPOUT ¢ 3/8"
111 1160339 BLIND FILTER @ 70x17 mm
112 1250101 FILTER BLOCKING SPRING ¢ 1,00 mm INOX
113 1241060 FILTER HOLDER KNOB M10
114 1190001 PAPER SHIM g 73x59x0.8 mm
115 1190002 RUBBER SHIM g 73x59x1 mm EPDM
116 1022103 CHROME-PLATED EXTENSION F/SPOUTS ¢ 3/8"
120 1165063 FILTER HOLDER VIBIEMME




VIBIEMME SLE

GroUp,

LEVER BREW GROUP

CUBO-DOMOBAR

DOMOBAR JUNIOR
DOMOBAR SUPER
REPLICA

26 27 Ef 2?

VBMO0202

Positions without LF code no.: upon request



o3 VIBIEMME
Grot
Position LF code no. Description
1 1439001 CAP g 16 mm FOR BREW GROUP
2 1186326 PTFE FLAT GASKET g 22x16x2 mm
3 1501566 NOZZLE M6x1 HOLE & 0,5 mm
4 1192171 UPPER CHROME-PLATED SLEEVE
5 1186328 PTFE FLAT GASKET @ 35x30x2 mm
6 1786283 FLAT PTFE GASKET @ 25.5x21x5 mm
7 1250536 SPRING @ 13x42 mm
8 1324013 DELIVERY VALVE PIN
8 1523053 COMPLETE SPOUT VALVE
9 1786291 FLAT PTFE GASKET @ 9.5x6x2 mm
12 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
13 1081016 SHOWER SCREEN g 60 mm
13 1081116 SHOWER SCREEN g 60 mm
13 1081216 SHOWER SCREEN g 60 mm
13 1081516 SHOWER @ 60 mm
14 1186721 FILTER HOLDER GASKET g 74x57.5x8 mm
14 1186722 FILTER HOLDER GASKET @ 73x57x8 mm
14 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
14 1186724 FILTER HOLDER GASKET @ 73x57x9 mm
14 1486724 GASKET FILTERHOLDER @ 73x57x10 mm
15 1192181 CHROME-PLATED DRAIN SLEEVE
16 1523453 COMPLETE DRAIN VALVE
17 1250515 SPRING @ 14x33 mm
18 1186117 PTFE FLAT GASKET @ 26x21x2 mm
21 1250537 SPRING @ 14x45 mm
22 1324094 TRIANGULAR INFUSION PIN
22 1523057 INFUSION VALVE COMPLETE
23 1184005 CAM LOCKING STAINLESS STEEL SCREW M6
24 1324048 CAM ROD FOR COFFEE GROUP
25 1192183 CHROME-PLATED CAM HOLDER FITTING
26 1186312 EPDM FLAT GASKET @ 15.5x7.5x4 mm
27 1186313 CAM GUIDE BUSHING
28 1250516 SPRING @ 15x28 mm
29 1439533 STUFFING GLAND CHROME-PLATED FITTING
30 1184010 LOW CYLINDER HEAD SCREW M6x10
34 1241401 KNOB M8x1
35 1528047 BLIND HEXAGONAL NUT M6
38 1186384 COFFEE GROUP GASKET 80x70x2 mm
38 1186508 COFFEE GROUP GASKET 77x73x2 mm
39 1528622 HEXAGON HEAD SCREW M8x16
40 1186591 O-RING 0128 VITON
41 1192180 UPPER CHROME-PLATED SLEEVE
101 1165126 COMPLETE FILTER HOLDER 1 CUP VIBIEMME
102 1165124 COMPLETE FILTER HOLDER 1 CUP VIBIEMME
103 1165125 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME
104 1165127 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME
105 1160251 1 CUPFILTER 6 g
106 1160335 1CUPFILTER 7 g
107 1160337 FILTER 2-CUP 14 g g 70x24,5 mm
108 1160252 FILTER 2-CUP 12 g
109 1022501 SINGLE SPOUT g 3/8"
110 1022502 DOUBLE SPOUT ¢ 3/8"
111 1160339 BLIND FILTER @ 70x17 mm
112 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
113 1241060 FILTER HOLDER KNOB M10
114 1190001 PAPER SHIM g 73x59x0.8 mm
115 1190002 RUBBER SHIM @ 73x59x1 mm EPDM
116 1022103 CHROME-PLATED EXTENSION F/SPOUTS ¢ 3/8"
120 1165063 FILTER HOLDER VIBIEMME




& VIBIEMME R

AUTOMATIC BREW GROUP

EVOLUTION
KOMETA-LOLLO
MINIMAX
SILVER

VBMO302

Positions without LF code no.: upon request




VIBIEMME %,2’:
@
Position LF code no. Description
1 1528008 WASHER FLAT M8
3 1786291 FLAT PTFE GASKET @ 9.5x6x2 mm
4 1439001 CAP g 16 mm FOR BREW GROUP
5 1186326 PTFE FLAT GASKET g 22x16x2 mm
6 1501566 NOZZLE M6x1 HOLE & 0,5 mm
7 1186328 PTFE FLAT GASKET @ 35x30x2 mm
8 1186117 PTFE FLAT GASKET @ 26x21x2 mm
9 1081016 SHOWER SCREEN g 60 mm
9 1081116 SHOWER SCREEN g 60 mm
9 1081216 SHOWER SCREEN g 60 mm
9 1081516 SHOWER @ 60 mm
10 1186721 FILTER HOLDER GASKET @ 74x57.5x8 mm
10 1186722 FILTER HOLDER GASKET @ 73x57x8 mm
10 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
10 1186724 FILTER HOLDER GASKET @ 73x57x9 mm
11 1120361 COIL PARKER YBO09 220/230V 9W 50/60Hz
12 1120339 3-WAY MECHANICAL COMPONENT PARKER
13 1120280 SOLENOID VALVE ODE 3 WAYS 110V
13 1120349 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
14 1186612 O-RING 02025 VITON
15 1184006 LOW CYLINDER HEAD SCREW M4x12
17 1192175 CHROME-PLATED OUTLET FITTING
18 1192173 CHROME-PLATED OUTLET FITTING
19 1501560 BREW GROUP SPRAY NOZZLE g 21 mm M6x1
21 1439057 CAP M26x1.5 FOR DELIVERY GROUP
22 1186486 COFFEE GROUP GASKET 72x64x2 mm
23 1528622 HEXAGON HEAD SCREW M8x16
24 1439060 CAP 2 20.5 mm FOR DELIVERY GROUP
26 1160517 WATER FILTER @ 8.5x22 mm
27 1192172 SOLENOID VALVE COVER
28 1192182 SOLENOID VALVE PLATE
29 1192170 SOLENOID VALVE COVER
30 1192166 SPACER FOR COFFEE GROUP
101 1165126 COMPLETE FILTER HOLDER 1 CUP VIBIEMME
102 1165124 COMPLETE FILTER HOLDER 1 CUP VIBIEMME
103 1165125 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME
104 1165127 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME
105 1160251 1 CUPFILTER 6 g
106 1160335 1 CUPFILTER 7 g
107 1160337 FILTER 2-CUP 14 g g 70x24,5 mm
108 1160252 FILTER 2-CUP 12 g
109 1022501 SINGLE SPOUT ¢ 3/8"
110 1022502 DOUBLE SPOUT g 3/8"
111 1160339 BLIND FILTER @ 70x17 mm
112 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
113 1241060 FILTER HOLDER KNOB M10
114 1190001 PAPER SHIM @ 73x59x0.8 mm
115 1190002 RUBBER SHIM g 73x59x1 mm EPDM
116 1022103 CHROME-PLATED EXTENSION F/SPOUTS ¢ 3/8"
120 1165063 FILTER HOLDER VIBIEMME




% VIBIEMME ‘L

LEVER BREW GROUP REPLICA

REPLICA

VBMO0402

Positions without LF code no.: upon request




VIBIEMME ~5 0
GroUD, 4
Position LF code no. Description
1 1486026 FILTER HOLDER GASKET g 65.5x55.5x5.5
2 1081016 SHOWER SCREEN @ 60 mm
2 1081116 SHOWER SCREEN g 60 mm
2 1081216 SHOWER SCREEN g 60 mm
2 1081516 SHOWER @ 60 mm
3 5014713 CYLINDER HEAD SCREW M5x16
4 1786292 O-RING 0161 BROWN VITON
6 1786285 GROUP GASKET @ 82.5x3 mm
7 1439200 CAP 2 18 mm FOR BREW GROUP
8 5500730 JACKET FOR LEVER ASSEMBLY
9 1786287 O-RING 0162 BLACK VITON
10 1186800 FLAT GASKET @ 50x44x4 mm PTFE
12 1192179 LEVER GROUP PISTON
13 1192167 PISTON SPACER FOR LEVER GROUP
14 1225053 LEVER FOR COOFFEE GROUP
15 1250354 SPRING FOR LEVER GROUP
16 1250355 SPRING FOR LEVER GROUP
18 1192184 CHROME-PLATED FORK FOR LEVER GROUP
19 1192168 CHROME-PLATED FORK FOR LEVER GROUP
20 1192178 CONTROL LEVER FOR DELIVERY GROUP
21 1241200 LEVER GROUP HANDLE
22 1528026 CYLINDER HEAD SCREW M8x20
23 1192185 ARTICULATION BUSHING @ 20x18x14 mm
24 1199062 BEARING 6001 ZZ NSK
25 1192176 RIGHT PIN FOR LEVER GROUP
26 1192177 LEFT PIN FOR LEVER GROUP
28 1324164 LEVER GROUP ARTICULATION PIN @ 10x40 mm
101 1165232 FILTER HOLDER COMPLETE 1 CUP VIBIEMME
102 1165233 FILTERHOLDER COMPLETE 2 CUPS VIBIEMME
103 1022501 SINGLE SPOUT ¢ 3/8"
104 1022502 DOUBLE SPOUT g 3/8"
105 1165232 FILTER HOLDER COMPLETE 1 CUP VIBIEMME
105 1165233 FILTERHOLDER COMPLETE 2 CUPS VIBIEMME
106 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX




v/
% VIBIEMME

WATER/STEAM TAPS

CHIMAERACUBO {1 2 3 4 5 & 7 8 9 10 11 12 13 14 15 16 17 18
REPLICA T T T T T R T I T e

\ T T N\ \ )

L1

101 102 103 104 105 106 107 108 109

17 118 19 120 1%1 122 123

\ \
A LY \ 1 \ N
b b \ \ -
\ \ \ \
Y \ " \
kY A =l
it ! y i

VBM1002

Positions without LF code no.: upon request




o3 VIBIEMME
Grot
Position LF code no. Description
1 1241461 WATER/STEAM TAP KNOB
2 1548011 CHROME-PLATED NUT FOR TAP
3 1250521 SPRING @ 15x17 mm
4 1186322 TAP ROD BUSHING
5 1324086 TAP HANDLE SPINDLE
6 1186312 EPDM FLAT GASKET @ 15.5x7.5x4 mm
7 1186732 WASHER @ 15x8.4x1 mm
8 1324026 TAP SPINDLE
9 3528238 FLAT WASHER M4
11 1184010 LOW CYLINDER HEAD SCREW M6x10
12 1186311 NBR FLAT GASKET @ 13x4x4 mm
13 1186122 GASKET HOLDER FOR TAP
14 1250157 TAP SPRING @ 12.5x30 mm
15 1250202 SPRING @ 8x30 mm
16 1323003 STAINLESS STEEL BALL g 8 mm
17 1186323 PTFE FLAT GASKET @ 24x18x2 mm
19 1348036 NUT g 3/8" WRENCH 21x6mm
20 1250362 SPRING @ 10.8x30 mm
21 1186556 O-RING R6 EPDM
22 1348213 STEAM PIPE BUSHING
23 1186236 O-RING 03043 VITON
24 1548016 LH COMPLETE STEAM TAP
24 1548017 LH COMPLETE STEAM TAP
25 1348842 STEAM TAP ASSY
25 1548014 RH COMPLETE STEAM TAP
25 1548015 RH COMPLETE STEAM TAP
26 1549037 COMPLETE LH STEAM PIPE ¢ 8 mm
26 5057693 COMPLETE CHROME-PL. STEAM PIPE LH @ 8 mm
27 1449856 STEAM PIPE COMPLETE
27 1449857 COMPLETE WATER PIPE
27 1549036 COMPLETE RH STEAM PIPE @ 8 mm
27 1549041 COMPLETE ST. STEEL STEAM PIPE RH @ 10 mm
28 1186065 FLAT GASKET @ 12x10x1 mm PTFE
29 1449016 NOZZLE FOR STEAM ¢ 1/8"F 4 HOLES
30 1549040 STEAM SPRINKLER ¢ 1/8"F 2 HOLES
31 1187501 BURN PREVENTING PIPE HANDGRIP ¢ 8 mm
101 1241461 WATER/STEAM TAP KNOB
102 1349353 TAP COUPLING
103 1250521 SPRING @ 15x17 mm
104 1186322 TAP ROD BUSHING
105 1186312 EPDM FLAT GASKET @ 15.5x7.5x4 mm
106 1186732 WASHER @ 15x8.4x1 mm
107 1324086 TAP HANDLE SPINDLE
108 3528238 FLAT WASHER M4
109 1324026 TAP SPINDLE
111 1186311 NBR FLAT GASKET g 13x4x4 mm
112 1186122 GASKET HOLDER FOR TAP
113 1250157 TAP SPRING @ 12.5x30 mm
114 1186323 PTFE FLAT GASKET @ 24x18x2 mm
115 1349352 TAP COUPLING
117 1186236 O-RING 03043 VITON
118 1348213 STEAM PIPE BUSHING
119 1186556 O-RING R6 EPDM
120 1250362 SPRING @ 10.8x30 mm
121 1348036 NUT @ 3/8" WRENCH 21x6mm
124 1548032 WATER/STEAM TAP




% VIBIEMME

WATER/STEAM TAPS

DOMOBAR JUNIOR-DOMOBAR SUPER

VBM1102

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description

1 1241182 WATER/STEAM TAP KNOB

2 1548011 CHROME-PLATED NUT FOR TAP

3 1548018 WATER/STEAM TAP PIN

4 1186236 O-RING 03043 VITON

5 1786284 BLIND GASKET @ 10x5 mm SILICONE
7 1348036 NUT @ 3/8" WRENCH 21x6mm

8 1250348 SPRING @ 10.5x29.3 mm STEAM PIPE
9 1186556 O-RING R6 EPDM
10 1348213 STEAM PIPE BUSHING
11 1186236 O-RING 03043 VITON
12 1549038 COMPLETE STEAM PIPE @ 8 mm
13 1449304 COMPLETE WATER PIPE
14 1548023 TAP WATER/STEAM
16 1241183 WATER/STEAM TAP KNOB
17 1786294 BLIND GASKET @ 10x5 mm SILICONE
18 1786296 BLIND GASKET @ 9.5x5 mm PTFE




% VIBIEMME

WATER/STEAM TAPS

DOSAPLUS

VBM1202

Positions without LF code no.: upon request




VIBIEMME ~5 0
GroUD, 4
Position LF code no. Description
1 1241336 TAP HANDLE WATER/STEAM
5 1349353 TAP COUPLING
6 1250521 SPRING g 15x17 mm
7 1186322 TAP ROD BUSHING
8 1186312 EPDM FLAT GASKET @ 15.5x7.5x4 mm
9 1186732 WASHER @ 15x8.4x1 mm
11 3528238 FLAT WASHER M4
12 1324026 TAP SPINDLE
14 1250157 TAP SPRING @ 12.5x30 mm
15 1250202 SPRING @ 8x30 mm
16 1323003 STAINLESS STEEL BALL @ 8 mm
17 1186323 PTFE FLAT GASKET g 24x18x2 mm
18 1349352 TAP COUPLING
19 1186311 NBR FLAT GASKET g 13x4x4 mm
20 1186122 GASKET HOLDER FOR TAP
21 1348036 NUT @ 3/8" WRENCH 21x6mm
22 1250362 SPRING @ 10.8x30 mm
23 1348213 STEAM PIPE BUSHING
24 1186236 O-RING 03043 VITON
26 1186065 FLAT GASKET @ 12x10x1 mm PTFE
27 1449016 NOZZLE FOR STEAM ¢ 1/8"F 4 HOLES
28 1449860 COMPLETE STEAM PIPE @ 8 mm
30 1449332 WATER PIPE NOZZLE
31 1449857 COMPLETE WATER PIPE
31 1549039 COMPLETE WATER PIPE g 8 mm
32 1348843 STEAM TAP
32 1548019 COMPLETE STEAM TAP
33 1348843 STEAM TAP
33 1548020 COMPLETE WATER TAP
34 1186556 O-RING R6 EPDM




& VIBIEMME R

WATER/STEAM TAPS

EVOLUTION-KOMETA-MINIMAX-REVOLUTION-SILVER

VBM1302

Positions without LF code no.: upon request




Py

VIBIEMME w5
GroUD,
Position LF code no. Description
1 1241057 STEAM CAP FOR KNOB
2 1528141 FLAT WASHER @ 22x6.5x5 mm
3 1241003 KNOB FOR WATER/STEAM TAP
4 1349471 TAP PIN
4 1349504 NUT g 1/2" KEY 25x6 mm
5 1186854 O-RING EPDM R5
6 1548012 GASKET HOLDER
7 1250415 TAP SPRING @ 10x32 mm
8 1324066 WATER/STEAM TAP PIN
8 1324165 TAP PIN
9 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
11 1349351 NUT g 3/8"F H5 KEY 24 mm
12 1250151 SPRING @ 12x15 mm FOR STEAM PIPE
12 1250348 SPRING @ 10.5x29.3 mm STEAM PIPE
13 1186556 O-RING R6 EPDM
14 1186670 STEAM PIPE ARTICULATION BUSHING @ 12x5mm
14 1348213 STEAM PIPE BUSHING
15 1186236 O-RING 03043 VITON
18 1186556 O-RING R6 EPDM
19 1449332 WATER PIPE NOZZLE
20 1449016 NOZZLE FOR STEAM ¢ 1/8"F 4 HOLES
21 1186065 FLAT GASKET @ 12x10x1 mm PTFE
23 1449064 STEAM PIPE COMPLETE STAINLESS STEEL ¢ 8
25 1548022 COMPLETE STEAM TAP
26 1389001 S/STEEL PIN g 2x20 mm
27 1241058 WATER CAP FOR KNOB
28 1786289 FLAT COPPER GASKET @ 22x17x2 mm
31 1549040 STEAM SPRINKLER g 1/8"F 2 HOLES
37 1187501 BURN PREVENTING PIPE HANDGRIP @ 8 mm




4& VIBIEMME

WATER/STEAM TAPS

LOLLO

VBM1402

Positions without LF code no.: upon request




VIBIEMME

SRV

Position LF code no. Description
1 5058054 NUT CHROMED FOR TAP
2 5052818 BUSHING FOR PIN
3 5052820 PIN FOR TAP
4 5058055 BUSHING TAP WATER/STEAM
6 1186236 O-RING 03043 VITON
7 1250356 SPRING @ 13x27 mm STEAM TAP
9 1523075 GASKET HOLDER FOR TAP
10 1186731 PTFE FLAT GASKET @ 24x19x2 mm
12 1348036 NUT @ 3/8" WRENCH 21x6mm
13 1250348 SPRING @ 10.5x29.3 mm STEAM PIPE
14 1186556 O-RING R6 EPDM
15 1348213 STEAM PIPE BUSHING
16 1548021 STEAM/WATER TAP
17 1241401 KNOB M8x1
20 1549034 PIPE STEAM COMPL. ST. STEEL RH @ 10 mm
21 1549035 STEAM PIPE COMPLETE LH ¢ 10 mm
23 1449332 WATER PIPE NOZZLE
24 1186065 FLAT GASKET @ 12x10x1 mm PTFE
25 1449016 NOZZLE FOR STEAM g 1/8"F 4 HOLES
29 1549034 PIPE STEAM COMPL. ST. STEEL RH @ 10 mm

30 1549035 STEAM PIPE COMPLETE LH g 10 mm




% VIBIEMME

WATER/STEAM TAPS

MERCURY

05 06 07 08 11121314 16 17

29 28

VBM1502

Positions without LF code no.: upon request




Py

VIBIEMME w5
GroUD,
Position LF code no. Description
1 1241336 TAP HANDLE WATER/STEAM
2 1241336 TAP HANDLE WATER/STEAM
5 1349353 TAP COUPLING
7 1186312 EPDM FLAT GASKET @ 15.5x7.5x4 mm
8 1186732 WASHER @ 15x8.4x1 mm
9 1324008 SPINDLE FOR WATER/STEAM TAP
11 1523453 COMPLETE DRAIN VALVE
12 1186330 WASHER FLAT BRASS @ 6.8x3.2x0.5 mm
13 1186311 NBR FLAT GASKET @ 13x4x4 mm
14 1186309 GASKET HOLDER BUSHING
15 1348213 STEAM PIPE BUSHING
16 1250157 TAP SPRING @ 12.5x30 mm
17 1186323 PTFE FLAT GASKET g 24x18x2 mm
18 1349352 TAP COUPLING
19 1348036 NUT g 3/8" WRENCH 21x6mm
20 1250362 SPRING @ 10.8x30 mm
21 1186556 O-RING R6 EPDM
24 1186065 FLAT GASKET @ 12x10x1 mm PTFE
25 1449016 NOZZLE FOR STEAM g 1/8"F 4 HOLES
27 1449332 WATER PIPE NOZZLE
29 1548019 COMPLETE STEAM TAP
30 1449860 COMPLETE STEAM PIPE @ 8 mm
31 1449857 COMPLETE WATER PIPE
31 1549039 COMPLETE WATER PIPE ¢ 8 mm




& VIBIEMME R

WATER INLET TAP

CHIMAERA-EVOLUTION-LOLLO-REPLICA-REVOLUTION

VBM2002

Positions without LF code no.: upon request




VIBIEMME w5
GroUD,
Position LF code no. Description
1 1358010 WATER INLET TAP
2 1720010 EXPANSION VALVE g 1/4"M 8-12 bar
4 1449683 SILICONE HOSE @ 5x10 SHORE 60 - 10 m
5 1184006 LOW CYLINDER HEAD SCREW M4x12
6 1186612 O-RING 02025 VITON
7 1358013 NUT o 3/8"F FOR DRAIN TAP
8 1324162 PIN FOR INLET TAP
12 1786286 O-RING R4 EPDM
13 1186311 NBR FLAT GASKET @ 13x4x4 mm
15 1186117 PTFE FLAT GASKET @ 26x21x2 mm
19 1186129 GASKET FLAT NBR @ 15/6x10 mm
20 1186131 GASKET HOLDER FOR TAP
21 1250349 SPRING @ 14.5x28 mm INLET TAP
22 1786295 GASKET ORM 0170-20 EPDM
25 1720011 TRIANGULAR NON-RETURN VALVE
26 1250202 SPRING @ 8x30 mm
27 1186314 PTFE FLAT GASKET g 22x17x2 mm




& VIBIEMME

2
WATER INLET TAP
CUBO-DOSAPLUS-MINIMAX
A
/ 17 1 7 19 ZT 1 \
@
24 25 26 27
VBM2102

Positions without LF code no.: upon request




VIBIEMME w5
GroUD,
Position LF code no. Description
2 1324163 PIN FOR INLET TAP
3 1186318 O-RING 03043 EPDM
4 1786293 FLAT COPPER GASKET @ 14x11x1 mm
6 1523412 INLET VALVE
8 1250202 SPRING @ 8x30 mm
9 1323003 STAINLESS STEEL BALL @ 8 mm
10 1186323 PTFE FLAT GASKET @ 24x18x2 mm
11 1349352 TAP COUPLING
12 1348059 WATER INLET TAP
14 1186422 O-RING 0108 EPDM
15 1523023 TRIANGULAR NON-RETURN VALVE
16 1250202 SPRING @ 8x30 mm
17 1348051 INLET TAP BODY
18 1523453 COMPLETE DRAIN VALVE
19 1250515 SPRING @ 14x33 mm
20 1186117 PTFE FLAT GASKET @ 26x21x2 mm
23 1348381 WATER INLET TAP




$e VIBIEMME

WATER INLET TAP

KOMETA-MERCURY-SILVER

01 02 03 39 04 39 05 06 07 08 09 10 11 12

36

15 /06 16 17 \

a7
19
-
A =3
i?i pe
& .
& .

25
26
27
28

VBM2202

Positions without LF code no.: upon request



Py

VIBIEMME w5
GroUD,
Position LF code no. Description
4 1186236 O-RING 03043 VITON
6 1324033 SQUARE PIN 12.1 mm 6x6 mm M3
7 1186330 WASHER FLAT BRASS @ 6.8x3.2x0.5 mm
8 1186311 NBR FLAT GASKET g 13x4x4 mm
9 1186309 GASKET HOLDER BUSHING
10 1250157 TAP SPRING @ 12.5x30 mm
11 1250202 SPRING @ 8x30 mm
12 1323003 STAINLESS STEEL BALL @ 8 mm
13 1186323 PTFE FLAT GASKET @ 24x18x2 mm
14 1349352 TAP COUPLING
16 1186422 O-RING 0108 EPDM
18 1250202 SPRING @ 8x30 mm
19 1348051 INLET TAP BODY
20 1186117 PTFE FLAT GASKET @ 26x21x2 mm
22 1250515 SPRING @ 14x33 mm
29 1348381 WATER INLET TAP
30 1241334 WATER INLET TAP KNOB
31 1348036 NUT g 3/8" WRENCH 21x6mm
32 1349353 TAP COUPLING
33 1324044 TAP SPINDLE
35 1523412 INLET VALVE
36 1523023 TRIANGULAR NON-RETURN VALVE
37 1523453 COMPLETE DRAIN VALVE
39 1786293 FLAT COPPER GASKET @ 14x11x1 mm
40 1348059 WATER INLET TAP




i& VIBIEMME

LEVEL

CUBO-DOSAPLUS-EVOLUTION
KOMETA-MERCURY-MINIMAX
REPLICA-REVOLUTION-SILVER

VBM3002

Positions without LF code no.: upon request




VIBIEMME w5
Position LF code no. Description
2 1221060 RED INDICATOR LIGHT 250V
3 1186236 O-RING 03043 VITON
4 1520546 LEVEL GLASS g 11x140 mm
5 1186420 STUFFING GLAND RING g 15x11.5x3 mm
6 1439061 CAP g 1/4"M HEIGHT 12 mm NUT 19 mm
7 1349070 FITTING @ 3/8"M HOLE @ 12 mm
12 1186982 FLAT PTFE GASKET @ 17x13x2 mm




% VIBIEMME ‘L

BOILER CHIMAERA-REPLICA

CHIMAERA-REPLICA

VBM4002

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description

1 1755280 HEATING ELEMENT 3500W 220V
3 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
4 1439001 CAP g 16 mm FOR BREW GROUP
6 1443078 CONTACT THERMOSTAT 130°C 10A 250V
8 1523534 BOILER VALVE g 1/4"M
9 1515019 BOILER VALVE g 1/2"M

10 3341011 LEVEL PROBE @ 1/4"M-140 mm

13 1349002 ELBOW FITTING @ 1/4"M-1/4"M

15 1755284 HEATING ELEMENT 800W 230V

17 1186627 CARBO FLAT GASKET @ 41x33x3 mm

19 1349014 BOILER FITTING @ 1/2"M-1/2"M

21 1443077 CONTACT THERMOSTAT 130°C 16A 250V

22 1397059 TEMPERATURE PROBE g 1/4"M




VIBIEMME SLE

GroUp,

BOILER CUBO-REPLICA

CUBO-REPLICA

VBM4102

Positions without LF code no.: upon request



) VIBIEMME w3
GroUD,
Position LF code no. Description
1 1755003 HEATING ELEMENT 5000W 230V
1 1755228 HEATING ELEMENT 4000W 230V
2 1755277 HEATING ELEMENT 4500W 380V
2 1755282 HEATING ELEMENT 3500W 380V
6 1528621 HEXAGONAL NUT M8 SHORT M8
8 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
13 1186566 BOILER GASKET g 165x150x3 mm
14 1443078 CONTACT THERMOSTAT 130°C 10A 250V
17 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
18 1550006 INJECTOR PIPE @ 1/4"M - 65 mm
20 1439061 CAP g 1/4"M HEIGHT 12 mm NUT 19 mm
21 1550007 INJECTOR PIPE @ 1/4"M-1/4"M-1/4"M
25 3341011 LEVEL PROBE @ 1/4"M-140 mm
27 1349014 BOILER FITTING @ 1/2"M-1/2"M
28 1515020 BOILER VALVE g 1/2"M
29 1523534 BOILER VALVE g 1/4"M
31 1349002 ELBOW FITTING @ 1/4"M-1/4"M




‘\\{ 0
% VIBIEMME

BOILER DOMOBAR

DOMOBAR

VBM4202

Positions without LF code no.: upon request




Py

VIBIEMME w5
GroUD,
Position LF code no. Description
5 1444049 SINGLE-PHASE THERMOSTAT TR/86
6 3240419 MICROSWITCH PIZZATO MF09
7 1755348 HEATING ELEMENT 1350W 220V
8 1755637 HEATING ELEMENT 1400W 110V
9 1186627 CARBO FLAT GASKET @ 41x33x3 mm
13 1443076 CONTACT THERMOSTAT 150°C 16A 250V
15 1241182 WATER/STEAM TAP KNOB
16 1548013 STEAM TAP
19 1349275 BULB SHEATH FITTING @ 1/4"F - 12M
24 1349276 BYPASS FITTINGS ¢ 1/8"M-1/8"F
25 1349274 ELBOW FITTING @ 1/8"M-1/8"M
26 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz
27 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz
28 1449683 SILICONE HOSE @ 5x10 SHORE 60 - 10 m
30 1331023 SQUARE DAMPER EX-EP-EK-EA
34 1186556 O-RING R6 EPDM
35 1186834 BLIND GASKET @ 7x2 mm PTFE
39 1680002 WATER CONTAINER
43 1221060 RED INDICATOR LIGHT 250V
44 3319948 RED BIPOLAR SWITCH 16A 250V
50 1245001 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
50 1245074 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
51 1240805 MICROSWITCH G26 16A 250V
55 1348036 NUT @ 3/8" WRENCH 21x6mm
56 1250362 SPRING @ 10.8x30 mm
57 1186556 O-RING R6 EPDM




& VIBIEMME ‘e

BOILER DOMOBAR JUNIOR

DOMOBAR JUNIOR

VBM4302

Positions without LF code no.: upon request




VIBIEMME w5
Position LF code no. Description
1 1186627 CARBO FLAT GASKET @ 41x33x3 mm
2 1755281 HEATING ELEMENT 600W 230V
5 1349275 BULB SHEATH FITTING ¢ 1/4"F - 12M
7 1443076 CONTACT THERMOSTAT 150°C 16A 250V
8 3341011 LEVEL PROBE @ 1/4"M-140 mm
9 1523534 BOILER VALVE g 1/4"M
14 1523021 BOILER VALVE g 3/8"M
16 1443002 CONTACT THERMOSTAT 165°C M4
17 1755278 HEATING ELEMENT 1200W 230V




% VIBIEMME

BOILER DOMOBAR JUNIOR

DOMOBAR JUNIOR

"

10

—

2

-

3

VBM4402

Positions without LF code no.: upon request




VIBIEMME

Position LF code no. Description
1 1186623 PTFE FLAT GASKET @ 53x43x3 mm
2 1755285 HEATING ELEMENT 1600W 230V
7 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
11 3341011 LEVEL PROBE @ 1/4"M-140 mm
12 1443002 CONTACT THERMOSTAT 165°C M4
13 1523534 BOILER VALVE g 1/4"M
15 1523021 BOILER VALVE g 3/8"M




VIBIEMME SLE

GroUp,

BOILR DOMOBAR SUPER

DOMOBAR SUPER

VBM4502

Positions without LF code no.: upon request



) VIBIEMME w3
GroUD,
Position LF code no. Description
1 1186627 CARBO FLAT GASKET @ 41x33x3 mm
2 1755284 HEATING ELEMENT 800W 230V
6 1349002 ELBOW FITTING @ 1/4"M-1/4"M
8 1755278 HEATING ELEMENT 1200W 230V
14 1443077 CONTACT THERMOSTAT 130°C 16A 250V
16 1349014 BOILER FITTING @ 1/2"M-1/2"M
17 1397059 TEMPERATURE PROBE g 1/4"M
18 1443002 CONTACT THERMOSTAT 165°C M4
20 1523534 BOILER VALVE @ 1/4"M
21 1523021 BOILER VALVE @ 3/8"M
22 3341011 LEVEL PROBE @ 1/4"M-140 mm




% VIBIEMME

BOILER DOMOBAR SUPER

DOMOBAR SUPER

60

VBM4602

Positions without LF code no.: upon request




Py

VIBIEMME w5
GroUD,
Position LF code no. Description

1 1245001 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
1 1245072 PUMP PRESSURE GAUGE @ 40 mm 0+16 bar
2 1245002 BOILER PRESSURE GAUGE @ 41 mm 0+2.5 bar
2 1245073 BOILER PRESSURE GAUGE @ 40 mm 0+4 bar
3 1320025 PRESSURE SWITCH PS14.01 0.2-0.9 BAR 1/4"
5 1523021 BOILER VALVE g 3/8"M
6 1349014 BOILER FITTING ¢ 1/2"M-1/2"M
9 1523534 BOILER VALVE g 1/4"M

11 3341011 LEVEL PROBE @ 1/4"M-140 mm

15 1349002 ELBOW FITTING @ 1/4"M-1/4"M

17 1349274 ELBOW FITTING @ 1/8"M-1/8"M

23 1120260 SOLENOID VALVE ODE 2 WAY g 1/8" 230V 8W

24 1755279 HEATING ELEMENT 1800W 230V

25 1186623 PTFE FLAT GASKET @ 53x43x3 mm

27 1523028 NON-RETURN VALVE ¢ 1/8"M-1/8"M

31 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F

32 1550006 INJECTOR PIPE @ 1/4"M - 65 mm

34 1331019 VALVE S2

35 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz

35 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz

36 1331023 SQUARE DAMPER EX-EP-EK-EA

43 1349276 BYPASS FITTINGS g 1/8"M-1/8"F

45 1786284 BLIND GASKET @ 10x5 mm SILICONE

48 1186236 O-RING 03043 VITON

53 1455067 VOLUMETRIC FLOW METER GICAR

60 1320531 PRESSURE SWITCH P302/6 3-POLES 30A




@k VIBIEMME

BOILER DOSAPLUS-SILVER

DOSAPLUS-SILVER

31-GR.1 ;
30 - 32 - MINIMAX 40
-33-GR.2

L34 -GR.2 - 4000w

’!‘
~ 43
t 35-GR.3
L 36 - GR.3 - 5000w
L37-GR4 ”

VBM4702

Positions without LF code no.: upon request



VIBIEMME

Position LF code no. Description
1 1550007 INJECTOR PIPE @ 1/4"M-1/4"M-1/4"M
2 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
4 1349014 BOILER FITTING @ 1/2"M-1/2"M
6 1523534 BOILER VALVE g 1/4"M
16 1515020 BOILER VALVE g 1/2"M
22 1186566 BOILER GASKET g 165x150x3 mm
23 1786290 BOILER GASKET @ 141x127x4 mm
28 1550006 INJECTOR PIPE @ 1/4"M - 65 mm
32 1755283 HEATING ELEMENT 2700W 230V
34 1755228 HEATING ELEMENT 4000W 230V
36 1755003 HEATING ELEMENT 5000W 230V
39 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
40 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
47 1515019 BOILER VALVE g 1/2"M

49 3341011 LEVEL PROBE g 1/4"M-140 mm




& VIBIEMME “LE

BOILER EVOLUTION-MERCURY-REVOLUTION

EVOLUTION-MERCURY-REVOLUTION

VBM4802

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description
6 1455067 VOLUMETRIC FLOW METER GICAR
10 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
23 1439061 CAP g 1/4"M HEIGHT 12 mm NUT 19 mm
24 1349278 BOILER FITTING ¢ 1/2"M-1/2"M-1/4"F
25 1550006 INJECTOR PIPE @ 1/4"M - 65 mm
26 1439001 CAP g 16 mm FOR BREW GROUP
27 1755003 HEATING ELEMENT 5000W 230V
27 1755228 HEATING ELEMENT 4000W 230V
28 1755277 HEATING ELEMENT 4500W 380V
28 1755282 HEATING ELEMENT 3500W 380V
29 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
33 1443078 CONTACT THERMOSTAT 130°C 10A 250V
34 1523534 BOILER VALVE g 1/4"M
35 1515019 BOILER VALVE g 1/2"M
36 3341011 LEVEL PROBE @ 1/4"M-140 mm
37 1349014 BOILER FITTING @ 1/2"M-1/2"M




a@% VIBIEMME

BOILER KOMETA

KOMETA

01

VBM4902

Positions without LF code no.: upon request




VIBIEMME w5
Position LF code no. Description
2 1550007 INJECTOR PIPE @ 1/4"M-1/4"M-1/4"M
3 1186623 PTFE FLAT GASKET @ 53x43x3 mm
4 1755279 HEATING ELEMENT 1800W 230V
5 1349002 ELBOW FITTING @ 1/4"M-1/4"M
7 1320025 PRESSURE SWITCH PS14.01 0.2-0.9 BAR 1/4"
8 1523021 BOILER VALVE g 3/8"M
9 1523534 BOILER VALVE g 1/4"M
14 1186623 PTFE FLAT GASKET @ 53x43x3 mm
18 1550006 INJECTOR PIPE @ 1/4"M - 65 mm




§?
’

VIBIEMME

BOILER KOMETA

KOMETA

20
15 minimax
16 gr.2
17 gr.2 maggiorta
18 gr.3
19 gr.3 maggiorata

28

22

VBMS5002

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description
1 1550007 INJECTOR PIPE @ 1/4"M-1/4"M-1/4"M
2 1349002 ELBOW FITTING @ 1/4"M-1/4"M
4 1523534 BOILER VALVE @ 1/4"M
5 1515020 BOILER VALVE g 1/2"M
12 1550006 INJECTOR PIPE @ 1/4"M - 65 mm
15 1755283 HEATING ELEMENT 2700W 230V
17 1755228 HEATING ELEMENT 4000W 230V
19 1755003 HEATING ELEMENT 5000W 230V
20 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
21 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
26 1515019 BOILER VALVE @ 1/2"M
28 3341011 LEVEL PROBE @ 1/4"M-140 mm
29 1439001 CAP g 16 mm FOR BREW GROUP
33 1186326 PTFE FLAT GASKET g 22x16x2 mm




& VIBIEMME

BOILER LOLLO

LOLLO

VBM5102

Positions without LF code no.: upon request




VIBIEMME

Position LF code no. Description
1 1755279 HEATING ELEMENT 1800W 230V
2 1186623 PTFE FLAT GASKET @ 53x43x3 mm
10 1523534 BOILER VALVE @ 1/4"M
11 1523021 BOILER VALVE g 3/8"M
12 1349014 BOILER FITTING @ 1/2"M-1/2"M
16 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
18 1455067 VOLUMETRIC FLOW METER GICAR




i& VIBIEMME

BOILER LOLLO

LOLLO

VBM5202

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description
1755003 HEATING ELEMENT 5000W 230V

1 1755228 HEATING ELEMENT 4000W 230V

2 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
10 1523534 BOILER VALVE g 1/4"M
11 1515019 BOILER VALVE g 1/2"M
12 1349014 BOILER FITTING @ 1/2"M-1/2"M
13 3341011 LEVEL PROBE @ 1/4"M-140 mm
21 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
23 1455067 VOLUMETRIC FLOW METER GICAR
28 1349002 ELBOW FITTING @ 1/4"M-1/4"M
30 1120259 SOLEN. VALVE PARKER 2 WAYS 230V 50/60Hz




& VIBIEMME “LE

BOILER MINIMAX

MINIMAX

VBM5302

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description

1 1755283 HEATING ELEMENT 2700W 230V

2 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
4 1528621 HEXAGONAL NUT M8 SHORT M8

7 1443078 CONTACT THERMOSTAT 130°C 10A 250V

9 1349002 ELBOW FITTING @ 1/4"M-1/4"M
10 1349014 BOILER FITTING @ 1/2"M-1/2"M
11 1515019 BOILER VALVE g 1/2"M
12 1523534 BOILER VALVE g 1/4"M
13 3341011 LEVEL PROBE @ 1/4"M-140 mm
15 1439061 CAP 2 1/4"M HEIGHT 12 mm NUT 19 mm
16 1349278 BOILER FITTING @ 1/2"M-1/2"M-1/4"F
17 1550006 INJECTOR PIPE @ 1/4"M - 65 mm
18 1550007 INJECTOR PIPE @ 1/4"M-1/4"M-1/4"M




‘\\{ 0
% VIBIEMME

ELECTRICAL PARTS CHIMAERA

CHIMAERA

VBMB002

Positions without LF code no.: upon request




VIBIEMME

Position LF code no. Description

2 1057034 SELECTOR SWITCH 0-3 POSITIONS 16A 300V
5 1221061 GREEN INDICATOR LIGHT 250V
6 1221062 RED INDICATOR LIGHT 250V

11 1397059 TEMPERATURE PROBE g 1/4"M

12 1320531 PRESSURE SWITCH P302/6 3-POLES 30A

13 1443077 CONTACT THERMOSTAT 130°C 16A 250V

22 1054053 DOSER CONTROL BOX 3 GROUPS 240V




VIBIEMME

ELECTRICAL PARTS CUBO

cuso

VBMB102

Positions without LF code no.: upon request




VIBIEMME

A%
Position LF code no. Description
1 1057034 SELECTOR SWITCH 0-3 POSITIONS 16A 300V
2 1221061 GREEN INDICATOR LIGHT 250V
3 1221062 RED INDICATOR LIGHT 250V
5 1319588 PUSH-BUTTON PANEL 6 BUTTONS
10 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
12 1054006 DOSER CONTROL BOX 3 GROUPS 230V
15 3240419 MICROSWITCH PI1ZZATO MF09
17 1054056 DOSER CONTROL BOX 2/3 GROUPS 240V




‘\\{ 0
% VIBIEMME

ELECTRICAL PARTS DOMOBAR

DOMOBAR

VBM6B202

Positions without LF code no.: upon request




Py

VIBIEMME w5
GroUD,
Position LF code no. Description
5 1444049 SINGLE-PHASE THERMOSTAT TR/86
6 3240419 MICROSWITCH PIZZATO MF09
7 1755348 HEATING ELEMENT 1350W 220V
8 1755637 HEATING ELEMENT 1400W 110V
9 1186627 CARBO FLAT GASKET @ 41x33x3 mm
13 1443076 CONTACT THERMOSTAT 150°C 16A 250V
15 1241182 WATER/STEAM TAP KNOB
16 1548013 STEAM TAP
19 1349275 BULB SHEATH FITTING @ 1/4"F - 12M
24 1349276 BYPASS FITTINGS ¢ 1/8"M-1/8"F
25 1349274 ELBOW FITTING @ 1/8"M-1/8"M
26 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz
27 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz
28 1449683 SILICONE HOSE @ 5x10 SHORE 60 - 10 m
30 1331023 SQUARE DAMPER EX-EP-EK-EA
34 1186556 O-RING R6 EPDM
35 1186834 BLIND GASKET @ 7x2 mm PTFE
39 1680002 WATER CONTAINER
43 1221060 RED INDICATOR LIGHT 250V
44 3319948 RED BIPOLAR SWITCH 16A 250V
50 1245001 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
50 1245074 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
51 1240805 MICROSWITCH G26 16A 250V
55 1348036 NUT @ 3/8" WRENCH 21x6mm
56 1250362 SPRING @ 10.8x30 mm
57 1186556 O-RING R6 EPDM




& VIBIEMME R

ELECTRICAL PARTS DOMOBAR JUNIOR

DOMOBAR JUNIOR

22 23 24

VBMB302

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description
1 1221061 GREEN INDICATOR LIGHT 250V
2 1221062 RED INDICATOR LIGHT 250V
3 1444049 SINGLE-PHASE THERMOSTAT TR/86
4 1341044 LEVEL ADJUSTER PIC DELUXE 240V
5 3341011 LEVEL PROBE @ 1/4"M-140 mm
6 1319593 LEVER SWITCH 16A 250V
8 1443002 CONTACT THERMOSTAT 165°C M4
9 1443076 CONTACT THERMOSTAT 150°C 16A 250V
10 3240410 MICROSWITCH 16(4)A 250V
13 1320025 PRESSURE SWITCH PS14.01 0.2-0.9 BAR 1/4"
14 1320023 PRESSURE SWITCH XP110 125 0.5-1.5 BAR 1/
15 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz
16 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz
18 1755281 HEATING ELEMENT 600W 230V
20 1755278 HEATING ELEMENT 1200W 230V




v/
% VIBIEMME

ELECTRIC PARTS DOMOBAR SUPER

DOMOBAR SUPER

VBMB402

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description

2 1319148 PUSH-BUTTON PANEL 5 BUTTONS
3 1221061 GREEN INDICATOR LIGHT 250V
4 1221062 RED INDICATOR LIGHT 250V
5 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
6 1320025 PRESSURE SWITCH PS14.01 0.2-0.9 BAR 1/4"
7 1320023 PRESSURE SWITCH XP110 125 0.5-1.5 BAR 1/
8 1397059 TEMPERATURE PROBE g 1/4"M
9 1443077 CONTACT THERMOSTAT 130°C 16A 250V

12 3341011 LEVEL PROBE @ 1/4"M-140 mm

13 1443002 CONTACT THERMOSTAT 165°C M4

18 1455067 VOLUMETRIC FLOW METER GICAR

19 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz

20 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz

22 1351022 STATIC RELAY 25A 240V INPUT 3/32VDC

23 1240805 MICROSWITCH G26 16A 250V

24 1341007 DOSER CONTROL BOX 30 MICRO ST/C 240V

31 1057035 SELECTOR SWITCH 0-2 POSITIONS 16A 300V




v/
% VIBIEMME

ELECTRICAL PARTS DOMOBAR SUPER

DOMOBAR SUPER

VBMB502

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description

3 1221061 GREEN INDICATOR LIGHT 250V
4 1221062 RED INDICATOR LIGHT 250V
5 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
6 1320025 PRESSURE SWITCH PS14.01 0.2-0.9 BAR 1/4"
7 1320023 PRESSURE SWITCH XP110 125 0.5-1.5 BAR 1/
8 1397059 TEMPERATURE PROBE ¢ 1/4"M
9 1443077 CONTACT THERMOSTAT 130°C 16A 250V

12 3341011 LEVEL PROBE @ 1/4"M-140 mm

13 1443002 CONTACT THERMOSTAT 165°C M4

15 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz

16 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz

18 1240805 MICROSWITCH G26 16A 250V

26 1057035 SELECTOR SWITCH 0-2 POSITIONS 16A 300V

28 3240419 MICROSWITCH PI1ZZATO MF09




VIBIEMME SLE

GroUp,

ELECTRICAL PARTS DOMOBAR SUPER

DOMOBAR SUPER

&
24

VBM6602

Positions without LF code no.: upon request



VIBIEMME

‘\
GroUD,
Position LF code no. Description
1 1455062 VOLUMETRIC FLOW METER GICAR NSF
6 1319148 PUSH-BUTTON PANEL 5 BUTTONS
8 1319005 BIPOLAR SWITCH 16A 250V
10 1319595 OVAL CHROMED PUSH-BUTTON 17x12.5 mm
11 1221061 GREEN INDICATOR LIGHT 250V
12 1221062 RED INDICATOR LIGHT 250V
13 5007773 LAMP CAP FLAT TRANSPARENT SU2
14 3240419 MICROSWITCH PIZZATO MFQ09
15 1341006 LEVEL REGULATOR RL30/1E/2C/C 230V
16 1240805 MICROSWITCH G26 16A 250V
18 1319036 SELECTOR SWITCH 0-2 POSITIONS 20A 690V




% VIBIEMME

ELECTRICAL PARTS DOSAPLUS

DOSAPLUS

+ 01 gr.2 key prog.
+ 02 gr.3 key prog.
+ 03 gr.2 no key prog.
- 04 gr.3 no key prog.

-07

VBMB702

Positions without LF code no.: upon request




VIBIEMME

‘\
Position LF code no. Description

3 1054001 DOSER CONTROL BOX 2 GROUPS 230V

4 1054004 DOSER CONTROL BOX 3 GROUPS 230V

8 1319139 PUSH-BUTTON PANEL 5 BUTTONS

9 3319948 RED BIPOLAR SWITCH 16A 250V
11 3341011 LEVEL PROBE @ 1/4"M-140 mm
12 1455067 VOLUMETRIC FLOW METER GICAR
17 1319594 BIPOLAR SWITCH BLACK 250V
18 1319036 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
19 1221060 RED INDICATOR LIGHT 250V




% VIBIEMME

ELECTRICAL PARTS EVOLUTION

EVOLUTION

VBMB802

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description
4 1054006 DOSER CONTROL BOX 3 GROUPS 230V
8 1054056 DOSER CONTROL BOX 2/3 GROUPS 240V
16 1455067 VOLUMETRIC FLOW METER GICAR
17 1319440 PUSH-BUTTON PANEL 5 BUTTONS
19 1057034 SELECTOR SWITCH 0-3 POSITIONS 16A 300V
22 1319005 BIPOLAR SWITCH 16A 250V
24 1319595 OVAL CHROMED PUSH-BUTTON 17x12.5 mm
25 1221060 RED INDICATOR LIGHT 250V
26 1527020 DRAIN TANK
32 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
35 1443078 CONTACT THERMOSTAT 130°C 10A 250V




3@& VIBIEMME

ELECTRICAL PARTS KOMETA

KOMETA

VBMB902

Positions without LF code no.: upon request




VIBIEMME

Position LF code no. Description

1 1341007 DOSER CONTROL BOX 30 MICRO ST/C 240V
3 1319149 PUSH-BUTTON PANEL 5 BUTTONS
6 3319948 RED BIPOLAR SWITCH 16A 250V
7 3341011 LEVEL PROBE @ 1/4"M-140 mm
8 1455067 VOLUMETRIC FLOW METER GICAR

13 1319561 BLACK BIPOLAR SWITCH 16A 250V

14 1319036 SELECTOR SWITCH 0-2 POSITIONS 20A 690V




% VIBIEMME

ELECTRICAL PARTS KOMETA

KOMETA

VBM7002

Positions without LF code no.: upon request




VIBIEMME

A%
Position LF code no. Description

1 1054001 DOSER CONTROL BOX 2 GROUPS 230V

2 1054004 DOSER CONTROL BOX 3 GROUPS 230V

5 1319149 PUSH-BUTTON PANEL 5 BUTTONS

8 3319948 RED BIPOLAR SWITCH 16A 250V
10 3341011 LEVEL PROBE @ 1/4"M-140 mm
11 1455067 VOLUMETRIC FLOW METER GICAR
16 1319561 BLACK BIPOLAR SWITCH 16A 250V
17 1319036 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
18 1221060 RED INDICATOR LIGHT 250V




& VIBIEMME ‘e

ELECTRICAL PARTS LOLLO

LOLLO

VBM7102

Positions without LF code no.: upon request




VIBIEMME

A%
Position LF code no. Description
1 1319589 PUSH-BUTTON PANEL 5 BUTTONS
2 1319590 PUSH-BUTTON PANEL 2 BUTTONS
6 3341011 LEVEL PROBE @ 1/4"M-140 mm
7 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
12 1054054 DOSER CONTROL BOX 1-2 GROUPS 230V
13 1221062 RED INDICATOR LIGHT 250V
14 1319591 DOUBLE BIPOLAR SWITCH BLACK 250V




& VIBIEMME “LE

ELECTRICAL PARTS LOLLO

LOLLO

VBM7202

Positions without LF code no.: upon request




VIBIEMME w5
Position LF code no. Description

1 1319589 PUSH-BUTTON PANEL 5 BUTTONS

2 1319590 PUSH-BUTTON PANEL 2 BUTTONS
10 3341011 LEVEL PROBE @ 1/4"M-140 mm
11 1054054 DOSER CONTROL BOX 1-2 GROUPS 230V
12 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
16 1221062 RED INDICATOR LIGHT 250V
17 1319591 DOUBLE BIPOLAR SWITCH BLACK 250V




% VIBIEMME

ELECTRICAL PARTS MERCURY

MERCURY

VBM7302

Positions without LF code no.: upon request




VIBIEMME w5
Position LF code no. Description

1 1054004 DOSER CONTROL BOX 3 GROUPS 230V

2 1054004 DOSER CONTROL BOX 3 GROUPS 230V

5 1319148 PUSH-BUTTON PANEL 5 BUTTONS

6 3319948 RED BIPOLAR SWITCH 16A 250V

8 3341011 LEVEL PROBE @ 1/4"M-140 mm

9 1455067 VOLUMETRIC FLOW METER GICAR
14 1319561 BLACK BIPOLAR SWITCH 16A 250V
15 1319036 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
16 1221060 RED INDICATOR LIGHT 250V




VIBIEMME

ELECTRICAL PARTS MINIMAX

MINIMAX

VBM7402

Positions without LF code no.: upon request




VIBIEMME

Position LF code no. Description
1 1054006 DOSER CONTROL BOX 3 GROUPS 230V
5 1319148 PUSH-BUTTON PANEL 5 BUTTONS
6 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
7 1221060 RED INDICATOR LIGHT 250V
8 1319561 BLACK BIPOLAR SWITCH 16A 250V
9 1319036 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
10 1341006 LEVEL REGULATOR RL30/1E/2C/C 230V




i& VIBIEMME

ELECTRICAL PARTS REPLICA

REPLICA

VBM7502

Positions without LF code no.: upon request




VIBIEMME

A%
Position LF code no. Description
4 1057034 SELECTOR SWITCH 0-3 POSITIONS 16A 300V
5 1221061 GREEN INDICATOR LIGHT 250V
6 1221062 RED INDICATOR LIGHT 250V
8 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
9 1319005 BIPOLAR SWITCH 16A 250V
11 1319595 OVAL CHROMED PUSH-BUTTON 17x12.5 mm
12 1397059 TEMPERATURE PROBE g 1/4"M
14 1319588 PUSH-BUTTON PANEL 6 BUTTONS
18 1054053 DOSER CONTROL BOX 3 GROUPS 240V




& VIBIEMME

ELECTRICAL PARTS REPLICA

REPLICA

VBM7602

Positions without LF code no.: upon request




VIBIEMME

A%
Position LF code no. Description
4 1057034 SELECTOR SWITCH 0-3 POSITIONS 16A 300V
5 1221061 GREEN INDICATOR LIGHT 250V
6 1221062 RED INDICATOR LIGHT 250V
8 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
9 3240419 MICROSWITCH PI1ZZATO MF09
10 1054055 DOSER CONTROL BOX 3 GROUPS 240V
13 1341006 LEVEL REGULATOR RL30/1E/2C/C 230V
17 1397059 TEMPERATURE PROBE ¢ 1/4"M
18 1319594 BIPOLAR SWITCH BLACK 250V
22 1341006 LEVEL REGULATOR RL30/1E/2C/C 230V




% VIBIEMME

ELECTRICAL PARTS REVOLUTION

REVOLUTION

VBM7702

Positions without LF code no.: upon request




) VIBIEMME w3
GroUD,
Position LF code no. Description
4 1054006 DOSER CONTROL BOX 3 GROUPS 230V
8 1054056 DOSER CONTROL BOX 2/3 GROUPS 240V
16 1455067 VOLUMETRIC FLOW METER GICAR
17 1319440 PUSH-BUTTON PANEL 5 BUTTONS
19 1057034 SELECTOR SWITCH 0-3 POSITIONS 16A 300V
22 1319005 BIPOLAR SWITCH 16A 250V
24 1319595 OVAL CHROMED PUSH-BUTTON 17x12.5 mm
25 1221060 RED INDICATOR LIGHT 250V
26 1527020 DRAIN TANK
32 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
35 1443078 CONTACT THERMOSTAT 130°C 10A 250V




% VIBIEMME

ELECTRICAL PARTS SILVER

SILVER

08 09 11

b

VBM7802

Positions without LF code no.: upon request




VIBIEMME

A%
Position LF code no. Description

1 1054001 DOSER CONTROL BOX 2 GROUPS 230V

2 1054004 DOSER CONTROL BOX 3 GROUPS 230V

5 1319148 PUSH-BUTTON PANEL 5 BUTTONS

6 3319948 RED BIPOLAR SWITCH 16A 250V

7 3341011 LEVEL PROBE @ 1/4"M-140 mm

8 1455067 VOLUMETRIC FLOW METER GICAR
13 3319529 BIPOLAR SWITCH BLACK 10A 250V
14 1319036 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
15 1221060 RED INDICATOR LIGHT 250V




(\; )
% VIBIEMME

MOTORS AND PUMPS

CHIMAERA-CUBO-DOSAPLUS-EVOLUTION-KOMETA
LOLLO-MERCURY-MINIMAX-REPLICA-REVOLUTION-SILVER

12

VBM8002

Positions without LF code no.: upon request




VIBIEMME w5
Position LF code no. Description

2 1449732 FLEX HOSE @ 3/8"Fc x CFc 500 MM

3 1026005 DAMPER @ 25x21 mm M6

4 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
5 1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP
6 1330008 ROTARY VANE PUMP ROTOFLOW g 3/8" GAS

6 1330016 ROTARY VANE PUMP PROCON g 3/8" NPT

7 1349103 FITTING @ 3/8"M-3/8"M

9 1240375 RPM CLAMP MOTOR 100W
11 3068016 CAPACITOR DUCATI ENERGIA 10pF
13 3068014 CAPACITOR DUCATI ENERGIA 8uF




v
% VIBIEMME

PRESSURE-GAUGES

DOMOBARSUPER

CHIMAERA - EVOLUTION - LOLLO CHIMAERA - EVOLUTION - LOLLO
REPLICA - REVOLUTION REPLICA - REVOLUTION

B—y, 3

DOMOBARJUNIOR DOMOBARJUNIOR
DOMOBARSUPER - LOLLO DOMOBARSUPER - LOLLO

VBM8502

Positions without LF code no.: upon request




VIBIEMME w5
Position LF code no. Description

1 1245001 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar

2 1245002 BOILER PRESSURE GAUGE @ 41 mm 0+2.5 bar
3 1245016 BOILER-PUMP PRESSURE GAUGE @ 60 mm

4 1245017 BOILER-PUMP PRESSURE GAUGE @ 63 mm

5 1245066 BOILER PRESSURE GAUGE @ 49 mm 0+2.5 bar
6 1245067 PUMP PRESSURE GAUGE @ 49 mm 0+16 bar

7 1245072 PUMP PRESSURE GAUGE @ 40 mm 0+16 bar

8 1245073 BOILER PRESSURE GAUGE @ 40 mm 0+4 bar
9 1245074 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar




Cpf

)| ‘/‘P
o4 VIBIEMME
Suitable for: Suitable for:
Bearings

1199062 BEARING 6001 ZZ NSK
external @ 28mm - internal @ 12mm - thickness 8mm
for Coffee machine (VIBIEMME) REPLICA

VIBEMME CUSCINETGRPIS

Boiler safety valves

1515019 BOILER VALVE ¢ 1/2"M 1515020 BOILERVALVE ¢ 1/2"M
for Coffee machine (VIBIEMME) CHIMAERA - DOSAPLUS for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX KOMETA - REPLICA - SILVER
REPLICA - REVOLUTION - SILVER

VIBEMME VALVMO VIBIEMME VALVP469

1523534 BOILER VALVE ¢ 1/4"M 1523021  BOILERVALVE ¢ 3/8"M
stainless steel - new model calibration pressure 1.8 bar
internal PTFE coating - or viton for Coffee machine (VIBIEMME) DOMOBAR JUNIOR
for Coffee machine (VIBIEMME) CHIMAERA - CUBO DOMOBAR SUPER - KOMETA - LOLLO

DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER

VIBIEMME VALVSFME VIBIEMME VALVMOSP




VIBIEMME %

Suitable for: Suitable for:

Booster pumps

1330016 ROTARY VANEPUMP PROCON ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
clamp connection for Coffee machine (VIBIEMME) CHIMAERA - CUBO
flow rate 200 I/h DOSAPLUS - EVOLUTION - KOMETA - LOLLO
equipped with balanced bypass MERCURY - MINIMAX - REPLICA - REVOLUTION
with built-in filter SILVER
connection @ 3/8" conical NPT
NSF approved

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME POMPPROCCFL VIBIEMME POMPPROCCFLBYP VIBIEMME ELETFASCPOMPA VIBIEMME FASCMOT
1330008 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" GAS 1349103  FITTING ¢ 3/8"M-3/8"M
clamp connection for Coffee machine (VIBIEMME) CHIMAERA - CUBO
flowrate 150 L/h DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
with balanced bypass LOLLO - MERCURY - MINIMAX - REPLICA
fitting @ 3/8" GAS REVOLUTION - SILVER

NSF - WRAS approved

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEEMME POMPPRONO VIBIEMME RACCP426

1168011 STAINLESS STEEL CLAMP FORFLANGE PUMP
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME ELETFASCPOMPA VIBIEMME FASCMOT



Cpf

\{

)| ‘/‘P
o VIBIEMME

Suitable for: Suitable for:

1330035 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" GAS 1349103  FITTING ¢ 3/8"M-3/8"M
clamp fitting for Coffee machine (VIBIEMME) CHIMAERA - CUBO
flow rate 100 litri/h DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
with balanced bypass LOLLO - MERCURY - MINIMAX - REPLICA
fitting @ 3/8" GAS REVOLUTION - SILVER
NSF approved

VIBIEMME POMPPRONOSETN VIBIEMME RACCP426

1168011 STAINLESS STEEL CLAMP FORFLANGE PUMP
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME ELETFASCPOMPA VIBIEMME FASCMOT

1330101 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
flange connection for Coffee machine (VIBIEMME) CHIMAERA - CUBO
flowrate 100 L/h DOSAPLUS - EVOLUTION - KOMETA - LOLLO
with balanced by-pass MERCURY - MINIMAX - REPLICA - REVOLUTION
fitting @ 3/8" conical NPT SILVER
N.S.F. approved
PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%

VIBIEMME VIBIEMME ELETFASCPOMPA VIBIEMME FASCMOT

1330102 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP

flange connection

flowrate 200 L/h

with balanced by-pass

fitting ¢ 3/8" conical NPT
N.S.F. approved

PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%

VIBIEMME

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME ELETFASCPOMPA VIBIEMME FASCMOT



Suitable for:

VIBIEMME B

Suitable for:

Brushes

1384023 BRUSH FOR CLEANING 50 mm

VIBIEMME

1384001 BRUSH FOR COFFEE SHOWER

=

VIBIEMME

1384002 BRUSH FORMAINTENANCE

VIBIEMME

1384014 BRUSH FORSHOWER RED

=

VIBIEMME

Capacitors, electrical

3068016 CAPACITORDUCATIENERGIA 10pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connector 6.35x0.8 mm
@ 36xh58 mm

VIBIEMME ELETCONDRPMGR

3068014 CAPACITORDUCATIENERGIA 8pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connection 6.35x0.8 mm
@ 32xh55 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

Ay
=y

VIBIEMME ELETCONDRPM

3068080 CAPACITORELECTRICAL 10uF
450V 50/60Hz - ¢ 30xh71 mm

&

VIBIEMME ELETCONDRPMGR

3068079  CAPACITORELECTRICAL 8pF
450V 50/60Hz - ¢ 30xh71 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

Y.

VIBIEMME ELETCONDRPM



o VIBIEMME
Suitable for: Suitable for:
Caps
1439061 CAP @ 1/4"M HEIGHT 12 mm NUT 19 mm 1439001 CAP@o 16 mm FORBREW GROUP
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS for Coffee machine (VIBIEMME) CHIMAERA - CUBO
EVOLUTION - KOMETA - MERCURY - MINIMAX DOMOBAR - DOMOBARJUNIOT - DOMOBARSUPER
REPLICA - REVOLUTION - SILVER DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER
VIBIEMME RACCP226C VIBIEMME RACCTACHCASU
1439200 CAP @18 mm FORBREW GROUP 1439060 CAP920.5mm FORDELIVERY GROUP
for Coffee machine (VIBIEMME) REPLICA for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
LOLLO - MINIMAX - SILVER
W
VIBIEMME RACCTAPD24PIS VIBIEMME RACCTAINFGRKO
1439057 CAP M26x1.5 FORDELIVERY GROUP
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
LOLLO - MINIMAX - SILVER
E N
VIBIEMME RACCTASUPGRKO
Clamps
1168011 STAINLESS STEEL CLAMP FORFLANGE PUMP

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME ELETFASCPOMPA

VIBIEMME FASCMOT



VIBIEMME %
Suitable or: Suitable for:

Coffee filters
1160600 ADAPTERFILTER FOREP CAPSULES 1160339  BLIND FILTER ¢ 70x17 mm

to match with the machine-brand specific
bottomless filter holder

food-safe certification

for MODEL E61 GROUPS

for Coffee machine (VIBIEMME)

4

VIBIEMME

VIBIEMME FILTCI

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

1160252 FILTER2-CUP 12 ¢

for Coffee machine (VIBIEMME) CHIMAERA - CUBO

DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME FILT2TB

1160282

VIBIEMME

FILTER 2-CUP 14 g - COST EFFECTIVE

1160337 FILTER 2-CUP 14 g ¢ 70x24,5 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARA - DOMOBARJUNIOR - DOMOBARSUPER

DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

-

VIBIEMME FILT2TA

5064969

VIBIEMME

FILTRO CAPSULE EP-FAP SUPER EMULSIONE

adattatore per capsule singola dose

completo di valvola interna a pressione

per rendere cremoso il prodotto in tazza

da abbinare al portafiltro senza fondo specifico

per la marca della macchina

adattabile per macchine BFC-BIANCHI-BRASILIA
BRUGNETTI AURORA-EXPOBAR-FAEMA-FIORENZATO CS
FUTURA-FUTURMAT-GRIMAC-ROYAL-SAB ITALIA-SANREMO
SCALA-VIBIEMME-WEGA

=

| —




o VIBIEMME

Suitable for: Suitable for:

1460100 PRECISION FILTER 1 CUP 6/8 g H24.5 1460101  PRECISION FILTER 1 CUP 7/9 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food-safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
VICTORIA ARDUINO QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
for GROUPS E61 ASCASO-BEZZERA-BFC-BIANCHI VIBIEMME-WEGA
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

VIBIEMME VIBIEMME

1460102 PRECISION FILTER 2 CUPS 12/18 g H24.5 1460103  PRECISION FILTER 2 CUPS 14/20 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA VIBIEMME-WEGA

VIBIEMME VIBIEMME

1460104 PRECISION FILTER 2 CUPS 18/22 g H28,5 1460400  PRECISION FILTER 2T 12/18 g H24

VIBIEMME

round holes with conical section

Aisi 304 stainless steel - food safe certified

matching tamper ¢ 58 mm

for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

VIBIEMME

ultrafine model

circular holes with conical section

Aisi 304 steel - food-safe certified

¢ 58 mm suitable tamper

for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO

for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA




VIBIEMME
Suitable or: Suitable for:
1460401 PRECISION FILTER 2T 14/20 g H26 1460402  PRECISION FILTER 2T 18/22 g H28

VIBIEMME

ultrafine model

circular holes with conical section

Aisi 304 steel - food-safe certified

¢ 58 mm suitable tamper

for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO

for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

ultrafine model

circular holes with conical section

Aisi 304 steel - food-safe certified

¢ 58 mm suitable tamper

for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO

for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

1160251 1CUPFILTERG g 1CUPFILTER7 ¢
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER SILVER

VIBIEMME FILTITB

1160281 1-CUPFILTER 7 gr - BASIC QUALITY

VIBIEMME

Coffee groups

1192185 ARTICULATIONBUSHING ¢ 20x18x14 mm

for delivery group
for Coffee machine (VIBIEMME) REPLICA

VIBIEMME BUSSOLAGRPIST

CAM GUIDE BUSHING

for brew group

for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

Rl

|
!!
|

VIBIEMME RACCBUPRGO




It

Im/ﬁ

v

\

Suitable for:

VIBIEMME

Suitable for:

1192183 CHROME-PLATED CAM HOLDER FITTING
for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

=

&» :

VIBIEEMME RACCCACOGR

1192181 CHROME-PLATED DRAIN SLEEVE
for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEMME RACCCAIN

1192168 CHROME-PLATED FORK FORLEVER GROUP
for Coffee machine (VIBIEMME) REPLICA

Y
ﬁ
VIBIEMME SNODOGRPISTON

1192184 CHROME-PLATED FORK FORLEVER GROUP
for Coffee machine (VIBIEMME) REPLICA

. °

-

—————

VIBIEMME ANELLOGRPISTO

1192169 CHROME-PLATED LATERAL CAP
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - MERCURY - REPLICA
REVOLUTION

o2

VIBIEMME RACCATN

1192173  CHROME-PLATED OUTLET FITTING

overall length 83 mm

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA

LOLLO - MINIMAX - SILVER

: l
VIBIEMME ASSTASCAUTKRN

\

1192174 CHROME-PLATED OUTLET FITTING
overall length 63 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - MERCURY - REPLICA
REVOLUTION

VIBIEMME ASSTASCAUTAUS

1192175 CHROME-PLATED OUTLET FITTING

overall length 69 mm

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA

LOLLO - MINIMAX - SILVER

w

\

VIBIEMME ASSTASCAUTKO

1523453 COMPLETE DRAIN VALVE
for brew group
for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
KOMETA - MERCURY - MINIMAX - REPLICA - SILVER

VIBIEMME ASSVALVSCAR VIBIEMME RACCGASCTR

1523053 COMPLETE SPOUT VALVE

round pin - overall length 55 mm

for delivery group

for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

el

VIBIEMME ASSVALVEROG




VIBIEMME %

Suitable for: Suitable for:

1192178 CONTROL LEVERFORDELIVERY GROUP 1349007 DRAIN CHROMIUM-PLATED FITTING
connections M16/M8 - overall length 230 mm for Coffee machine (VIBIEMME) CHIMAERA - CUBO
for Coffee machine (VIBIEMME) REPLICA DOMOBARSUPER - DOSAPLUS - MERCURY - REPLICA

REVOLUTION

VIBEMME LEVAGRPISTONE VIBIEMME ASSTASCAUT
1349537 DRAIN CHROMIUM-PLATED FITTING 1186309 GASKETHOLDERBUSHING

total height 26 mm for Coffee machine (VIBIEMME) KOMETA - MERCURY

SILVER
K . J

VIBEMME ASSTASC VIBEMME RACCPOGU
1523057 INFUSION VALVE COMPLETE 5500730 JACKET FOR LEVER ASSEMBLY

triangular pin - overall lenght 62 mm for Coffee machine (VIBIEMME) REPLICA

for brew group
for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

////%

q

VIBEMME ASSVALVINF VIBIEMME CAMICIAGRPIST
1192177 LEFTPIN FORLEVER GROUP 1225053  LEVERFORCOOFFEE GROUP
for Coffee machine (VIBIEMME) REPLICA overall length 168 mm - connections 12 mm

for Coffee machine (VIBIEMME) REPLICA

ALY
S
VIBEMME VITEPERNGRPIS VIBIEMME ALBEROGRPISTO
1192179 LEVER GROUP PISTON 1192167  PISTON SPACER FOR LEVER GROUP
for delivery group dimensions 47x24x5 mm
for Coffee machine (VIBIEMME) REPLICA for Coffee machine (VIBIEMME) REPLICA

= (¢ |

VIBIEMME PISTONE VIBIEMME DISTANZIALEPI




\l /&y
..

v VIBIEMME
Suitable for: Suitable for:
1192176 RIGHTPIN FORLEVER GROUP 1192170  SOLENOID VALVE COVER

for Coffee machine (VIBIEMME) REPLICA

o
~—

_:_:- 2

VIBIEMME VITEPERNGRDPI

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
LOLLO - MINIMAX - SILVER

VIBIEMME COPEINFCROGKO

1192172 SOLENOID VALVE COVER

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
LOLLO - MINIMAX - SILVER

VIBIEMME COPEELEGRIKO

1192182  SOLENOID VALVE PLATE

for Coffee machine (VIBIEMME) CUBO - DOMOBARSUPER
EVOLUTION - KOMETA - LOLLO - MINIMAX - SILVER

VIBIEMME COPEELEGRINEW

1192166 SPACERFOR COFFEE GROUP
dimensions 72x64 mm

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
LOLLO - MINIMAX - SILVER

VIBIEMME DISTANZIALEVO

1439533  STUFFING GLAND CHROME-PLATED FITTING

for delivery group

for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEMME RACCTAPRGO

1192171 UPPER CHROME-PLATED SLEEVE

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - MERCURY - REPLICA - REVOLUTION

3

1192180

UPPER CHROME-PLATED SLEEVE

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - MERCURY - REPLICA - REVOLUTION

VIBIEEMME RACCCASUTEPI VIBIEMME RACCCASU

Coffee measuring spoons

1069001 PLASTIC MEASURING SPOON 20 ml

1069002  STAINLESS STEEL MEASURING SPOON 20 m|

>

VIBIEMME MISURINO VIBIEMME



r]\ ‘ ‘\,/
VIBIEMME %@
Suitable or: Suitable for:
Contact thermostats

1443078 CONTACT THERMOSTAT 130°C 10A 250V 1443077 CONTACT THERMOSTAT 130°C 16A 250V

with manual reset for Coffee machine (VIBIEMME) CHIMAERA

for Coffee machine (VIBIEMME) CHIMAERA - CUBO DOMOBARSUPER - REPLICA

EVOLUTION - MERCURY - MINIMAX - REPLICA

REVOLUTION
VIBIEMME ELETSALVRES VIBIEMME ELETGLDOM128
1443076 CONTACT THERMOSTAT 150°C 16A 250V 1443002 CONTACT THERMOSTAT 165°CM4

for Coffee machine (VIBIEMME) DOMOBAR with manual reset

DOMOBARJUNIOR for Coffee machine (VIBIEMME) DOMOBARJUNIOR

DOMOBARSUPER
VIBIEMME ELETGLDOM VIBIEMME ELETGLDOMM165
Cup support grids

1185703 BROWN CUP WARMING

overall dimensions 310x310 mm

for Coffee machine (VIBIEMME) DOSAPLUS - EVOLUTION

KOMETA - LOLLO - MERCURY - REPLICA

REVOLUTION - SILVER
VIBIEMME GRIGPL

Detergents

3092543 COFFEE CLEAN DETERGENT 570 ¢ 3092355 DETERGENT CAPPUCCINO PERFECT 1L

VIBIEMME

detergent for COFFEE MACHINES
suitable for the cleaning of filter holders
for grease and coffee stains on sauser and cups

VIBIEMME

to clean milk frothers
please see the attached documentation for use




)
( \E/‘

4 VIBIEMME
Suitable for: Suitable for:
3092351 DETERGENT COFFEE CLEAN 3092350 DETERGENT COFFEE CLEANTABLET2.5¢
package with 15 bags 20 g jar with 60 tablets 2.5 g
for coffee groups cleaning for coffee groups cleaning
VIBEMME VIBIEMME
3092143 DETERGENT COFFEE CLEAN900 g 3092353  SCALEREMOVER SCALE CLEAN
detergent for COFFEE MACHINES package with 12 bags 25 g
suitable for cleaning filters and filter holders for the cleaning of BABY coffee machines
for grease and coffee stains on cups and saucers please see the attached documentation for use
please see the attached documentation for use
VIBEMME VIBIEMME
3092352 SCALEREMOVER SCALE CLEAN 1kg
acid descaler for aluminium surfaces
copper, brass, iron
VIBEMME
Drain hoses
1449270 DRAIN PIPEELISPIR ¢ 12x18 mm -30m 1449670 DRAINPIPEELISPIRg 12x18 mm -5 m
alimentary alimentary
X \ \\k\ \ > ) o
N " \ ‘
VIBIEMME VIBIEMME
1449271 DRAINPIPEELISPIR ¢ 14x20mm -30m 1449671  DRAIN PIPEELISPIR ¢ 14x20 mm -5 m
alimentary alimentary
< <o
N \\\‘-\\'\\\\\\\ \\\\\\\-\\\\\\
W ’\\\\ \\\
\\\\\.\N P \\\\
p \\\'\‘\\ .\,\\'\é\\\ "
o Qo
VIBEMME VIBIEMME




i]* \ ’
‘ -
&' 0

VIBIEMME
Suitable or: Suitable for:
1449272 DRAINPIPEELISPIR ¢ 16x23 mm -30m 1449672  DRAIN PIPEELISPIR ¢ 16x23 mm -5 m
alimentary alimentary
\ A \
RS :
VIBIEMME VIBIEMME
1449273 DRAIN PIPEELISPIR ¢ 18x25mm -30m 1449673  DRAIN PIPEELISPIR ¢ 18x25mm -5 m
alimentary alimentary
SRR X0 \\\\\
. \\\\\\\\ \\‘\\.\\\\\\\\\
\\\\\ ) \\\\\\\\\\
‘\\\\\ :}r\v\\\
VIBIEMME VIBIEMME
1449274 DRAIN PIPEELISPIR 6 20x27 mm -30 m 1449674  DRAIN PIPEELISPIR ¢ 20x27 mm -5 m
alimentary alimentary
A S | > » \\\;\\
o S
e N \
SN PR \\\\
I \ \\\\
e
VIBIEMME VIBIEMME
1449255 OUTLETHOSEELISPIR ¢ 25x33 mm 1449256  OUTLET HOSE ELISPIR ¢ 30x38 mm
sold per meter sold per meter
\\\\\\ 2 S 2
VIBIEMME VIBIEMME
Drain tanks
1527020 DRAIN TANK

for Coffee machine (VIBIEMME) EVOLUTION
REVOLUTION

VIBIEMME MATECSCSCEVOL



Suitable for:

VIBIEMME

Suitable for:

Electronic boxes

1054054 DOSERCONTROLBOX 1-2 GROUPS 230V
for Coffee machine (VIBIEMME) LOLLO

VIBIEMME ELETDOSKORINE

1054001 DOSERCONTROLBOX2 GROUPS 230V
for Coffee machine (VIBIEMME) DOSAPLUS - KOMETA
SILVER

VIBIEMME ELETDOS3D2GSI

1054056 DOSER CONTROLBOX 2/3 GROUPS 240V
for Coffee machine (VIBIEMME) CUBO - EVOLUTION
REVOLUTION

VIBIEMME ELETDOSRECUMP

1054004 DOSERCONTROLBOX 3 GROUPS 230V
for Coffee machine (VIBIEMME) DOSAPLUS - KOMETA
MERCURY - SILVER

==

VIBIEMME ELETDOS3D3GSI

1054006 DOSERCONTROLBOX 3 GROUPS 230V
for Coffee machine (VIBIEMME) CUBO - EVOLUTION
MINIMAX - REPLICA - REVOLUTION

VIBIEMME ELETDOS3GRCTT VIBIEMME ELTDOS3GRCTT

1054053 DOSERCONTROLBOX 3 GROUPS 240V
for Coffee machine (VIBIEMME) CHIMAERA - REPLICA

VIBIEMME ELETDOSKIMREP

1054055 DOSERCONTROL BOX 3 GROUPS 240V
for Coffee machine (VIBIEMME) REPLICA

VIBIEMME ELETDOSPID23G

1341007 DOSERCONTROLBOX 30 MICRO ST/C 240V
for Coffee machine (VIBIEMME) DOMOBARSUPER
KOMETA

VIBIEMME ELETDOS30



VIBIEMME
Suitable or: Suitable for:
Filter holder gaskets
1486026 FILTER HOLDER GASKET g 65.5x55.5x5.5 1186722  FILTER HOLDER GASKET ¢ 73x57x8 mm

for Coffee machine (VIBIEMME) REPLICA AL

VIBIEMME GUARSOTPISTON

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME GUARSOT

1186723

VIBIEMME

FILTER HOLDER GASKET ¢ 73x57x8.5 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

1486040

VIBIEMME

FILTER HOLDER GASKET ¢ 73x57x8.5 mm
with internal grooves

produced with heat-resistant silicone,
soft consistency for en easier

installation on the group.

longer durability, better sealing and excellent
visibility thanks to its light colour.
suitable for groups type E61

suitable for machines AZKOYEN

suitable for machines BEZZERA

suitable for machines BIANCHI

suitable for machines EXPOBAR

suitable for machines FAEMA

suitable for machines SANREMO

suitable for machines VIBIEMME

1186724

VIBIEMME

FILTER HOLDER GASKET 6 73x57x9 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

1186721

VIBIEMME

FILTER HOLDER GASKET ¢ 74x57.5x8 mm

with internal cuts

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER




)
| 1)
(/Y

o,

v VIBIEMME
Suitable for: Suitable for:
1486724 GASKET FILTERHOLDER ¢ 73x57x10 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER
VIBIEMME
Filter holders for coffee machines
1165156 BARLEY POD FILTER HOLDER VIBIEMME 1165162  BARLEY/COFFEEPODSFILTER HOLDER
flow reqgulation by wings 6.5 mm
the knob rotation
wings 6 mm
VIBIEMME VIBIEMME
1165188 BOTTOMLESS FILTERHOLDERVIBIEMME 1165124  COMPLETEFILTER HOLDER 1 CUP VIBIEMME
wings 6.2 mm spout connection @ 3/8" - knob connection M10
wings 5.5 mm - with spring and filter 6 gr
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER
VIBIEMME VIBIEMME ASPORTN{TBMON VIBIEMME FILTBECIT VIBIEMME FILTMOLPTFL
VIBIEMME FILT1TB VIBIEMME PORTIMPPFNEW VIBIEMME PORTTN
1165126 COMPLETE FILTER HOLDER 1 CUP VIBIEMME 1165125 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME

spout connection @ 3/8" - knob connection M10
wings 5.5 mm - with spring and filter 7 gr

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION

SILVER

VIBIEMME ASPORTN1TAMON

VIBIEMME ASPORTN2TBMON
VIBIEMME FILT2TB

spout connection @ 3/8" - knob connection M10
wings 5.5 mm - with spring and filter 12 gr

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

S
—Jﬁr
3

VIBIEMME FILTBEC2T
VIBIEMME PORTIMPPFNEW

VIBIEMME FILTMOLPTFL
VIBIEMME PORTTN




Suitable for:

VIBIEMME

Suitable for:

1165127 COMPLETE FILTER HOLDER 2 CUPS VIBIEMME
spout connection @ 3/8" - knob connection M10
wings 5.5 mm - with spring and filter 14 gr
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME ASPORTN2TAMON
VIBIEMME FILT2TA

VIBIEMME FILTBEC2T

VIBIEMME PORTIMPPFNEW VIBIEMME PORTTN

VIBIEMME FILTMOLPTFL

1165251

VIBIEMME

FILTER HOLDER CAPS.LAVAZZA DIFF.BRANDS

alette 6,2 mm
per capsule singole lavazza blue

1165232 FILTERHOLDER COMPLETE 1 CUP VIBIEMME
spouts connection @ 3/8" - handle connection M12
wings 5.5 mm - with spring and filter

VIBIEMME ASPORT1TLEVAM VIBIEMME PORTTNLEVAMAN

1165063

FILTER HOLDER VIBIEMME

spout connection ¢ 3/8" - handle connection M10
wings 5.5 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME PORTTN

1165233 FILTERHOLDER COMPLETE 2 CUPS VIBIEMME
spouts connection @ 3/8" - handle connection M12
wings 5.5 mm - with spring and filter

VIBIEMME ASPORT2TLEVAM VIBIEMME PORTTNLEVAMAN

1165500

VIBIEMME

FILTERHOLDER WITH THERMOMANOMETER
measures water temperature and outlet pressure
from the brew group

temperature scale 0-120°C/ 0-240°F

pressure scale 0-16 bar / 0-200 psi

with outlet ballvalve

fins 7.2 mm

for Coffee machine (VIBIEMME)




o, VIBIEMME

Suitable for: Suitable for:

5086956 PORTAFILTRO SENZA FONDO VARIMARCHI
alette 6,2 mm
adattabile per macchine BFC
adattabile per macchine ECM MANUFACTURE
adattabile per macchine EXPOBAR
adattabile per macchine PROMAC
adattabile per macchine RANCILIO
adattabile per macchine ROYAL
adattabile per macchine SANREMO
adattabile per macchine VIBIEMME

===

VIBIEMME

Filter locking springs

1250101 FILTERBLOCKING SPRING ¢ 1,00 mm INOX 1250338  FILTERLOCKING SPRING ¢ 1.40 mm ST.STEEL
,‘//

VIBIEMME FILTMOLPTFL VIBIEMME VIBIEMME

1250002 S/STEELFILTER LOCKING SPRING ¢ 1.20 mm 1250333  SPRING FILTERBLOCK ¢ 1.30 mm ST.STEEL

VIBIEMME VIBIEMME

Filters

1160517 WATERFILTER ¢ 8.5x22 mm

VIBIEMME FILTGIGLEUR



VIBIEMME
Suitable or: Suitable for:
Fittings
1349014 BOILERFITTING ¢ 1/2"M-1/2"M 1349278  BOILERFITTING ¢ 1/2"M-1/2"M-1/4"F
for Coffee machine (VIBIEMME) DOMOBAR SUPER for Coffee machine (VIBIEMME) CUBO
DOSAPLUS - EVOLUTION - LOLLO - MERCURY DOMOBAR JUNIOR - DOMOBAR SUPER - DOSAPLUS
MINIMAX - REVOLUTION - SILVER EVOLUTION - LOLLO - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER
VIBIEMME RACCP427 VIBIEMME RACCP428
1349275 BULB SHEATHFITTING ¢ 1/4"F-12M 1349002 ELBOW FITTING ¢ 1/4"M-1/4"M
for Coffee machine (VIBIEMME) DOMOBAR for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARJUNIOR DOMOBARSUPER - DOSAPLUS - KOMETA - LOLLO
MINIMAX - REPLICA - SILVER
VIBIEMME PORTBULTERRID VIBIEMME RACCP429
1349274 ELBOW FITTING ¢ 1/8"M-1/8"M 1349103  FITTING ¢ 3/8"M-3/8"M
for Coffee machine (VIBIEMME) DOMOBAR for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARJUNIOR - DOMOBARSUPER DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER
VIBIEMME TUBICU18X18 VIBIEMME RACCP426
Flowmeters
1455033 CONNECTORFEMALE SMALL 3455333  COVER-HEAD FOR VOLUMETRIC FLOW METER LED

for volumetric flowmeter

VIBIEMME

VIBIEMME




/

N

)| ‘/‘P
v VIBIEMME
Suitable for: Suitable for:
1455032 IMPELLER GICAR 1455067 VOLUMETRIC FLOW METER GICAR
connections @ 1/4"FF - orifice 1.15 mm - NSF
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER
e
®
L}
VIBIEMME VIBIEMME ELETCONTSIRIN VIBIEMME ELETCONTVOLOT

1455062 VOLUMETRIC FLOW METER GICAR NSF
hose-end fitting inlet/outlet 8 7 mm
for Coffee machine (VIBIEMME) DOMOBARSUPER

VIBIEMME ELETCONTVODOS

Gaskets and seals
3186010 ASBESTOS FREE FLAT GASKET ¢ 54x42x2 mm 1786284  BLIND GASKET ¢ 10x5 mm SILICONE
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER
VIBIEMME VIBIEMME GUARSILRUDOMSU VIBIEMME GUARSILRUDOSU
1786294 BLIND GASKET ¢ 10x5 mm SILICONE 1186442  BLIND GASKET ¢ 12x5.8 mm SILICONE
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER
VIBIEEMME GUARSILRUDOSR VIBIEMME GUARSILRUBEVO
1186834 BLIND GASKET ¢ 7x2 mm PTFE 1786296  BLIND GASKET ¢ 9.5x5 mm PTFE
for steam tap for water/steam tap
for Coffee machine (VIBIEMME) DOMOBAR for Coffee machine (VIBIEMME) DOMOBARJUNIOS
DOMOBARSUPER

VIBIEMME GUARSILRUDOMO VIBIEMME GUARSILRUDOST




Suitable for:

VIBIEMME

Suitable for:

1186627 CARBO FLAT GASKET ¢ 41x33x3 mm 1186312 EPDM FLAT GASKET ¢ 15.5x7.5x4 mm
made of universal carbo for Coffee machine (VIBIEMME) CHIMAERA - CUBO
for heating element DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR DOSAPLUS - MERCURY - REPLICA
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEMME GUARCALDOM VIBIEMME GUARPICA

1186633 FLATCARBO GASKET ¢ 53x42x3 mm 1786293  FLATCOPPER GASKET ¢ 14x11x1 mm

universal carbo
for heating element

VIBIEMME

forinlet tap
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
KOMETA - MERCURY - MINIMAX - REPLICA - SILVER

VIBIEMME VITERON31MER

1786289 FLATCOPPER GASKET ¢22x17x2 mm 1186065 FLAT GASKET ¢ 12x10x1 mm PTFE
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA for Coffee machine (VIBIEMME) CHIMAERA - CUBO
MINIMAX - REVOLUTION - SILVER DOSAPLUS - EVOLUTION - KOMETA - MERCURY
MINIMAX - REPLICA - REVOLUTION - SILVER
- '(rf»" VW /
VIBIEMME RACCRONRARVEV VIBIEMME GUARTEF
1186800 FLATGASKET o0 50x44x4 mm PTFE 1186982  FLATPTFE GASKET ¢ 17x13x2 mm

cut
for Coffee machine (VIBIEMME) REPLICA

VIBIEMME GUARTEFANPIST

for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
EVOLUTION - KOMETA - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER

VIBIEMME VITERONTPP189




)
| 1)
(/Y

% VIBIEMME

Suitable for: Suitable for:

1786283 FLATPTFE GASKET ¢ 25.5x21x5 mm 1786291  FLATPTFE GASKET 9 9.5x6x2 mm
for coffee group sleeve for Coffee machine (VIBIEMME) CUBO - DOMOBAR
for Coffee machine (VIBIEMME) CHIMAERA - CUBO DOMOBARJUNIOR - DOMOBARSUPER - EVOLUTION
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER KOMETA - LOLLO - MINIMAX - REPLICA
DOSAPLUS - MERCURY - REPLICA - REVOLUTION REVOLUTION - SILVER

VIBIEMME GUARCASUTEPI VIBIEMME VITERONGTEFLO

1186129 GASKETFLATNBR ¢ 15/6x10 mm 1186311  NBRFLAT GASKET ¢ 13x4x4 mm

external g 15/6 mm - total height 10 mm
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
LOLLO - REPLICA - REVOLUTION

VIBIEMME GUARVALESPEVR

for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
LOLLO - REPLICA - REVOLUTION

VIBIEMME GUARPI VIBIEMME GUARPIEVOREVO

1186326 PTFEFLAT GASKET ¢ 22x16x2 mm 1186314  PTFEFLAT GASKET 9 22x17x2 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS LOLLO - REPLICA - REVOLUTION
EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER
VIBIEMME GUARTACHGR VIBIEMME GUARTEFNIPLOE
1186323 PTFEFLAT GASKET ¢ 24x18x2 mm 1186731  PTFEFLAT GASKET ¢ 24x19x2 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - KOMETA - MERCURY - MINIMAX
REPLICA - SILVER

VIBIEMME GUARRACGUIMOL

for Coffee machine (VIBIEMME) LOLLO

VIBIEMME GUARTEF24192




Suitable for:

VIBIEMME

Suitable for:
1186117 PTFEFLAT GASKET ¢ 26x21x2 mm 1186328 PTFEFLAT GASKET ¢ 35x30x2 mm
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION for Coffee machine (VIBIEMME) CHIMAERA - CUBO
LOLLO - REPLICA - REVOLUTION DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER
VIBIEMME GUARTE VIBIEMME GUARTEFNIPCAE VIBIEMME GUARCAINGRTE
1186993 PTFEFLAT GASKET ¢ 42x33x3 mm 1186623  PTFEFLAT GASKET ¢ 53x43x3 mm
for heating element for heating element
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER - DOSAPLUS - KOMETA - LOLLO
VIBIEMME VIBIEMME GUARRESPICTEF
1186538 TRIANGULAR GASKET FOR HEATING ELEMENT 1186621  TRIANGULAR GASKET FOR HEATING ELEMENT
free of asbestos universal carbo
dimensions 80x80x2 mm - internal hole 40 mm dimensions 80x80x3 mm - internal hole 40 mm
distance between the holes 57 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER
@—N\JC‘
¢ \"3?.;91
P 9
ISMF"‘:![V_,\ > =,
()
VIBIEMME VIBIEMME
1186634 TRIANGULAR GASKET FORHEATING ELEMENT

PTFE

dimensions 80x80x3 mm - internal hole 2 40 mm
distance between the holes 58 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

) J

VIBIEMME GUARRESTRT



s, VIBIEMME

Suitable for: Suitable for:
Gaskets for coffee group
1186486 COFFEE GROUP GASKET 72x64x2 mm 1186508 COFFEE GROUP GASKET 77x73x2 mm
paper PTFE
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA for Coffee machine (VIBIEMME) CHIMAERA - CUBO
LOLLO - MINIMAX - SILVER DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
MERCURY - REPLICA - REVOLUTION
~
. |
- P~ ‘ |
VIBIEMME GUARGRKO VIBIEMME
1186384 COFFEE GROUP GASKET 80x70x2 mm 1786285 GROUP GASKET ¢82.5x3 mm
paper made of PTFE
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) REPLICA
DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
MERCURY - REPLICA - REVOLUTION
2
a B
B B
VIBIEMME GUARGR VIBIEMME GUARGRPISTONE

Gaskets for coffee machine boiler

1786290 BOILER GASKET ¢ 141x127x4 mm 1186566  BOILER GASKET ¢ 165x150x3 mm
made of PTFE PTFE
for Coffee machine (VIBIEMME) DOSAPLUS - SILVER for Coffee machine (VIBIEMME) CUBO - DOSAPLUS

REPLICA - SILVER

VIBIEMME GUARFL180T VIBIEMME GUARFL205T

Handles for filterholder-portafilter

1241502 FILTERHOLDERHANDLE M10 1241169  FILTERHOLDERHANDLE M12

VIBIEMME VIBIEMME




VIBIEMME %@

Suitable for: Suitable for:

1241501 FILTERHOLDER HANDLE M12 1241504  FILTERHOLDERHANDLE M12
VIBIEMME VIBIEMME
1241060 FILTERHOLDERKNOB M10 1241269  FILTERHOLDERKNOB M10

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME PORTIMPPF VIBIEMME PORTIMPPFNEW VIBIEMME
1141006 FILTERHOLDERKNOB M10 SOFT 1141007  FILTERHOLDER KNOB M124 SOFT

\
\

VIBIEMME VIBIEMVE LF-5023860 VIBIEMME

5051751 FILTERHOLDER KNOB WHITEM10 1141004 HANDLEFORFILTER HOLDER M10 WALNUTWOOD
[ ’

VIBIEMME VIBIEMME

5083515 HANDLEFORFILTERHOLDERM10 WALNUTWOOD 1141003 HANDLEFORFILTER HOLDER M12 WALNUTWOOD

VIBIEMME VIBIEMME

5055983 HANDLEFORFILTERHOLDER M12 WALNUTWOOD 5054505 KNOBF.FILTERHOLDER M12 RED POLISHED

\

——

VIBIEMME VIBIEMME




VIBIEMME

v
Suitable for: Suitable for:
1241505 KNOBFILTER HOLDER M10 1241200 LEVER GROUP HANDLE
for Coffee machine (VIBIEMME) REPLICA
VIBIEMME VIBIEMME MANLEVAPISTON
5054506 RED FILTERHOLDERKNOB M10 POLISHED 5051102 WHITEFILTERHOLDERKNOB M12

&=

VIBIEMME

VIBIEMME

Heating elements

HEATING ELEMENT 1200W 230V
immersed length 95 mm - 2 poles

connectiong 1"
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER

1755278

VIBIEMME ELETRESD12230

1186993 PTFEFLAT GASKET ¢ 42x33x3 mm

for heating element

VIBIEMME

CARBO FLAT GASKET 9 41x33x3 mm

made of universal carbo

for heating element

for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

1186627

VIBIEMME GUARCALDOM

1755348 HEATING ELEMENT 1350W 220V

immersed length 130 mm - 2 poles
fittingo 1"
for Coffee machine (VIBIEMME) DOMOBAR

VIBIEMME ELETRESD1422

CARBO FLAT GASKET 9 41x33x3 mm

made of universal carbo

for heating element

for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

1186627

VIBIEMME GUARCALDOM



VIBIEMME
Suitable or: Suitable for:
1186993 PTFEFLAT GASKET ¢ 42x33x3 mm
for heating element
\\\‘\
VIBIEMME
1755637 HEATING ELEMENT 1400W 110V 1186627 CARBO FLAT GASKET ¢ 41x33x3 mm

immersed length 135 mm - 2 poles
fittingo 1"

VIBIEMME ELETRESD1411

made of universal carbo

for heating element

for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEMME GUARCALDOM

1186993 PTFEFLAT GASKET ¢ 42x33x3 mm
for heating element
\\\\\\
VIBIEMME
1755285 HEATING ELEMENT 1600W 230V 3186010 ASBESTOS FREE FLAT GASKET ¢ 54x42x2 mm
immersed length 95 mm - 2 poles
connection @ 1"1/4 - with thermostat-holder hole
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
f \
| !
L N
VIBIEMME ELETRESD1625 VIBIEMME
1186633 FLATCARBO GASKET ¢ 53x42x3 mm 1186623  PTFE FLAT GASKET ¢ 53x43x3 mm

universal carbo
for heating element

VIBIEMME

for heating element
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER - DOSAPLUS - KOMETA - LOLLO

o )
Nl

VIBIEMME GUARRESPICTEF




%4 VIBIEMME

Suitable for:

Suitable for:

1755279 HEATING ELEMENT 1800W 230V
immersed length 140 mm - 2 poles
connection g 1"1/4
for Coffee machine (VIBIEMME) DOMOBARSUPER
DOSAPLUS - KOMETA - LOLLO

VIBIEMME ELETRESSM1822

1186633 FLAT CARBO GASKET ¢ 53x42x3 mm

universal carbo
for heating element

VIBIEMME

3186010  ASBESTOS FREE FLAT GASKET ¢ 54x42x2 mm

4 /‘“’ \\ .

e 7 =
R

VIBIEMME

1186623  PTFEFLAT GASKET ¢ 53x43x3 mm
for heating element
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER - DOSAPLUS - KOMETA - LOLLO

(-
N

VIBIEMME GUARRESPICTEF

1755283 HEATING ELEMENT 2700W 230V
immersed length 250 mm - 4 poles
distance between fixing holes 57 mm
flange 77x77 mm
for 2-groups coffee machines
for Coffee machine (VIBIEMME) DOSAPLUS - KOMETA
MINIMAX - SILVER

VIBIEMME ELETRES2G2722 VIBIEMME ELETRES2G2724

1186621 TRIANGULAR GASKET FORHEATING ELEMENT
universal carbo
dimensions 80x80x3 mm - internal hole 40 mm
distance between the holes 57 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME

1186538  TRIANGULAR GASKET FOR HEATING ELEMENT

free of asbestos
dimensions 80x80x2 mm - internal hole 40 mm

—

T2
‘809,

G, -
e
VIBIEMME
1186634 TRIANGULAR GASKET FOR HEATING ELEMENT

PTFE

dimensions 80x80x3 mm - internal hole 2 40 mm
distance between the holes 58 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

\f\/ {‘\J

VIBIEMME GUARRESTRT




VIBIEMME
Suitable for: Suitable for:
1755280 HEATING ELEMENT 3500W 220V 1186538  TRIANGULAR GASKET FOR HEATING ELEMENT
immersed length 250 mm - 4 poles free of asbestos
distance between fixing holes 58 mm dimensions 80x80x2 mm - internal hole 40 mm
flange 77x77 mm
for 2-groups coffee machines
for Coffee machine (VIBIEMME) CHIMAERA - REPLICA
& S
P 9
(e, -
P )
VIBEMME ELETRESMI3522 VIBIEMME
1186621 TRIANGULAR GASKET FOR HEATING ELEMENT 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
universal carbo PTFE
dimensions 80x80x3 mm - internal hole 40 mm dimensions 80x80x3 mm - internal hole 6 40 mm
distance between the holes 57 mm distance between the holes 58 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER SILVER
3
\h et
VIBEMME VIBIEMME GUARRESTRT
1755282 HEATING ELEMENT 3500W 380V 1186538 TRIANGULAR GASKET FOR HEATING ELEMENT
immersed length 330 mm - 4 poles free of asbestos
distance between fixing holes 58 mm dimensions 80x80x2 mm - internal hole 40 mm
flange 77x77 mm
for 2-groups coffee machines
for Coffee machine (VIBIEMME) CUBO - EVOLUTION
MERCURY - REPLICA - REVOLUTION
:sgg.,,gjﬂu —_
4 - ®
VIBEMME ELETRES2G3538 VIBIEMME
1186621 TRIANGULAR GASKET FOR HEATING ELEMENT 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT

VIBIEMME

universal carbo

dimensions 80x80x3 mm - internal hole 40 mm
distance between the holes 57 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

PTFE

dimensions 80x80x3 mm - internal hole 8 40 mm
distance between the holes 58 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

& o

VIBIEMME GUARRESTRT




)
)
(/Y

(5 VIBIEMME
Suitable for: Suitable for:
1755228 HEATING ELEMENT 4000W 230V 1186538  TRIANGULAR GASKET FOR HEATING ELEMENT
immersed length 330 mm - 4 poles free of asbestos
distance between mounting holes 57 mm dimensions 80x80x2 mm - internal hole 40 mm
flange 78x78 mm
for 2-group coffee machines
for Coffee machine (VIBIEMME) DOSAPLUS - EVOLUTION
KOMETA - LOLLO - MERCURY - REVOLUTION - SILVER
o= ;
@ e
VIBEMME ELETRES2G4023 VIBIEMME
1186621 TRIANGULAR GASKETFOR HEATING ELEMENT 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
universal carbo PTFE
dimensions 80x80x3 mm - internal hole 40 mm dimensions 80x80x3 mm - internal hole 40 mm
distance between the holes 57 mm distance between the holes 58 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER SILVER
P
R 4
VIBIEMME VIBIEMME GUARRESTRT
1755277 HEATING ELEMENT 4500W 380V 1186538  TRIANGULAR GASKET FOR HEATING ELEMENT
immersed length 460 mm - 4 poles free of asbestos
distance between fixing holes 58 mm dimensions 80x80x2 mm - internal hole 40 mm
flange 77x77 mm
for 3-groups coffee machines
for Coffee machine (VIBIEMME) CUBO - EVOLUTION
MERCURY - REPLICA - REVOLUTION
B,
P 9
HMFA:,N
{ @
VIBIEMME ELETRES3G4538 VIBIEMME
1186621 TRIANGULAR GASKET FOR HEATING ELEMENT 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT

VIBIEMME

universal carbo

dimensions 80x80x3 mm - internal hole 40 mm
distance between the holes 57 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

PTFE

dimensions 80x80x3 mm - internal hole 2 40 mm
distance between the holes 58 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

\f‘w " 4

VIBIEMME GUARRESTRT




VIBIEMME %@

Suitable for: Suitable for:

1755003 HEATING ELEMENT 5000W 230V 1186538 TRIANGULAR GASKET FOR HEATING ELEMENT
immersed length 450 mm - 4 poles free of asbestos
distance between the holes 59 mm dimensions 80x80x2 mm - internal hole 40 mm

flange 78x78 mm

for coffee machines with 3 groups

for Coffee machine (VIBIEMME) DOSAPLUS - EVOLUTION
KOMETA - LOLLO - MERCURY - REVOLUTION - SILVER

\ T
| VN
€4 g, - > .
A i \@
VIBIEMME ELETRES3G5023 VIBIEMME
1186621 TRIANGULAR GASKET FORHEATING ELEMENT 1186634 TRIANGULAR GASKET FOR HEATING ELEMENT
universal carbo PTFE
dimensions 80x80x3 mm - internal hole 40 mm dimensions 80x80x3 mm - internal hole 8 40 mm
distance between the holes 57 mm distance between the holes 58 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER SILVER
h
\ﬁ " 4
VIBIEMME VIBIEMME GUARRESTRT
1755310 HEATING ELEMENT 600W 110V
profondita immersione 95 mm - 2 poli attaccog 1"
VIBIEMME ELETRESD6011C
1755281 HEATING ELEMENT 600W 230V 1186627 CARBO FLAT GASKET 9 41x33x3 mm
immersed length 95 mm - 2 poles made of universal carbo
connectiong 1" for heating element
for Coffee machine (VIBIEMME) DOMOBARJUNIOR for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR

DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEMME ELETRESD60230 VIBIEMME GUARCALDOM



v VIBIEMME

Suitable for: Suitable for:

1186993 PTFEFLAT GASKET ¢ 42x33x3 mm

for heating element

VIBIEMME

1755312 HEATING ELEMENT 800W 110V

profondita immersione 130 mm - 2 poli attacco ¢ 1"

VIBIEMME ELETRESD80011

1755284 HEATING ELEMENT 800W 230V 1186627 CARBO FLAT GASKET ¢ 41x33x3 mm
immersed length 130 mm - 2 poles made of universal carbo
connectiong 1" for heating element
for Coffee machine (VIBIEMME) CHIMAERA for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR
DOMOBARSUPER - REPLICA DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEMME ELETRESD80022 VIBIEMME GUARCALDOM

1186993 PTFEFLAT GASKET ¢ 42x33x3 mm

for heating element

VIBIEMME
Hydraulic piping
1449683 SILICONEHOSE ¢ 5x10 SHORE60-10 m 1449283  SILICONE HOSE ¢ 5x10 SHORE 60 - 100 m
alimentary alimentary

VIBIEMME MATECSIGS240 VIBIEMME MATECSOGS VIBIEMME MATECSOGS



Suitable for:

VIBIEMME

Suitable for:
Indicator lights
1221061 GREENINDICATOR LIGHT 250V 5007773  LAMP CAP FLAT TRANSPARENT SU2
for Coffee machine (VIBIEMME) CHIMAERA - CUBO mounting hole 8 6 mm - head ¢ 7 mm
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA
W <
ity
Bevia,
VIBIEMME ELETLAMNEONVE VIBIEMME ELETGEMMATRAS
1221060 RED INDICATOR LIGHT 250V 1221062  RED INDICATOR LIGHT 250V
@ head 20 mm - g hole 10 mm - 120°C for Coffee machine (VIBIEMME) CHIMAERA - CUBO
for Coffee machine (VIBIEMME) DOMOBAR - DOSAPLUS DOMOBARJUNIOR - DOMOBARSUPER - LOLLO - REPLICA
KOMETA - MERCURY - MINIMAX - SILVER
a
== &“ ./’ r
VIBIEMME ELETLAMSP22CF VIBIEMME ELETLAMSP22GC VIBIEMME ELETLAMNEONRO
Injectors

1501566 NOZZLEM6x1HOLE@0,5mm
for brew group
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME RACCGIES7

Inlet hoses

FLEX HOSE @ 3/8"Fcx CFc 500 MM

EPDM hose covered in stainless steel

hose external ¢ 12 mm

max temperature 90°C

max pressure 10 bar

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

1449732

SN

i

-' PPPET
s

4‘% ’ .
| =

==

VIBIEMME TUBIFLINPOCO



“\»{‘/
v VIBIEMME
Suitable for: Suitable for:
Ironmongery (screws,nuts,washers)
1528047 BLIND HEXAGONAL NUT M6 1184005 CAMLOCKING STAINLESS STEEL SCREW M6
stainless steel - height 10.5 mm - UNI 5721 - DIN for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA
VIBIEMME VITEDACEGMAIN VIBIEMME RACCPEFECA
5014713 CYLINDERHEAD SCREW M5x16 1528026  CYLINDERHEAD SCREW M8x20
stainless steel - with hexagon socket stainless steel - with hexagon socket
UNI 5931 -DIN 912 -1S0 4762 UNI5931-DIN912-1S0 4762
VIBIEMME VITECE5X16PIS VIBIEMME VITECE8X20PIS
1528141 FLATWASHER ¢ 22x6.5x5 mm 3528238 FLATWASHER M4
for water/steam tap knob internal/external ¢ 4.3/9 mm - thickness 0.8 mm
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA stainless steel - UNI 6592 - DIN 125 A - ISO 7089
MINIMAX - REVOLUTION - SILVER
VIBIEMME RACCROBLMAEVO VIBIEMME RACCROPIRU
1528622 HEXAGONHEAD SCREW M8x16 1528621 HEXAGONAL NUT M8 SHORT M8
stainless steel - UNI 5739 - DIN 933 - 1SO 4017 stainless steel - UNI 5589 - DIN 936 - 1ISO 4035
VIBIEMME VITETEM8X14 VIBIEMME VITEDABMAZI
1184006 LOW CYLINDERHEAD SCREW M4x12 1184010 LOW CYLINDER HEAD SCREW M6x10
stainless steel - with hexagon socket stainless steel - with hexagon socket
UNI 9327 - DIN 7984 UNI9327 - DIN 7984

VIBIEMME VITEVIBR VIBIEMME VITEVITBR VIBIEMME VITEBR6MA




VIBIEMME
Suitable or: Suitable for:
1349504 NUT ¢ 1/2"KEY 25x6 mm 1348036 NUT ¢ 3/8"WRENCH 21x6mm

for Coffee machine (VIBIEMME) KOMETA

VIBIEMME RACCDA12B

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - KOMETA - LOLLO - MERCURY - REPLICA
SILVER

O

VIBIEMME TUBIP202CR

1349351 NUT @ 3/8"FH5KEY 24 mm 1389001  S/STEELPIN ¢ 2x20 mm
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA UNI 1336 - DIN 94 - 1SO 1234
MINIMAX - REVOLUTION - SILVER for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER
VIBEMME TUBIP202CREVO VIBIEMME COPPASTRUBEVO
1186732 WASHER ¢ 15x8.4x1 mm 1186330  WASHER FLAT BRASS ¢ 6.8x3.2x0.5 mm

stainless steel
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - MERCURY - REPLICA

VIBIEEMME RACCROGU

for Coffee machine (VIBIEMME) KOMETA - MERCURY
SILVER

VIBIEMME RACCROPOGU

1528008 WASHERFLATMS8
internal/external ¢ 8.4/16 mm - thickness 1.6 mm
in zinc plated iron alloy
UNI6592 - DIN 125 A-1S0 7089

VIBIEMME VITERONGR8MA



{5&;, VIBIEMME

Suitable for: Suitable for:
Knobs
1241003 KNOBFORWATER/STEAM TAP 1241401 KNOB M8x1

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

VIBIEMME MANPRUACUPEVO

for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - LOLLO - REPLICA

VIBIEMME MANPPOLE

1241057 STEAM CAP FORKNOB

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

VIBIEMME MANPDIVAEVORE

1241336

TAP HANDLE WATER/STEAM

for Coffee machine (VIBIEMME) DOSAPLUS - MERCURY
REPLICA

VIBIEMME MANPRUACVP

1241058 WATERCAP FORKNOB

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

VIBIEMME MANPDIACEVORE

1241334

WATERINLET TAP KNOB

for Coffee machine (VIBIEMME) KOMETA - MERCURY
SILVER

*

VIBIEMME MANPRUCA

1241182 WATER/STEAM TAP KNOB
hole for square pin 6x6 mm - dimensions 35x35 mm
for Coffee machine (VIBIEMME) DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER

1241183

VIBIEMME MANPRSC VIBIEMME MANPRUSC

WATER/STEAM TAP KNOB

hole for square pin 6x6 mm - dimensions 43x43 mm
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER

&

VIBIEMME MANPRUSCDOMSA

1241461 WATER/STEAM TAP KNOB

square pin hole 7x7 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
REPLICA

VIBIEMME MANPRUVAACRE



Suitable for:

VIBIEMME

Suitable for:

Level balls

1323003  STAINLESS STEEL BALL 68 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO

DOSAPLUAS - DOSAPLUS - KOMETA - MERCURY
MINIMAX - REPLICA - SILVER

£ TN
i

VIBIEMME RACCSFTE

Level gauges

1349070 FITTINGo 3/8"M HOLEg 12mm
for level glass
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
EVOLUTION - KOMETA - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER

)

f

VIBIEMME RACCP227

1520546  LEVEL GLASS ¢ 11x140 mm
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
EVOLUTION - KOMETA - MERCURY - MINIMAX

REPLICA - REVOLUTION - SILVER

VIBIEMME MATECVELI140

1186420 STUFFING GLAND RING ¢ 15x11.5x3 mm
for level glass
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
EVOLUTION - KOMETA - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER

VIBIEMME RACCP224

Level regulators

1341044 LEVEL ADJUSTERPIC DELUXE 240V
230V 50/60Hz
for Coffee machine (VIBIEMME) DOMOBARJUNIOR

VIBIEMME ELETREGLIVDSJ VIBIEMME ELETREGLIVJGI

1341006 LEVEL REGULATORRL30/1E/2C/C 230V
230V 50/60Hz
for Coffee machine (VIBIEMME) DOMOBARSUPER

KOMETA - MINIMAX - REPLICA

VIBIEMME ELETREGLIV VIBIEEMME RLC302CM



v VIBIEMME

Suitable for: Suitable for:

Level sensors

3341011 LEVELPROBE @ 1/4"M-140 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER

VIBIEMME ELETSON

Lip seals

1186197 LIP SEAL ¢ 52x40x7 mm
for Coffee machine (VIBIEMME) REPLICA

VIBIEMME GUARORTENPIST

Microswitches, mechanical

1240805 MICROSWITCH G26 16A 250V 3240419  MICROSWITCH PIZZATO MF09
for Coffee machine (VIBIEMME) DOMOBAR 16A 250V
DOMOBARSUPER for Coffee machine (VIBIEMME) CUBO - DOMOBAR

DOMOBARSUPER - REPLICA

VIBIEMME ELETMICP1 VIBIEMVE ELETMICRE
3240123 MICROSWITCH ROLD VRSRB1DA1 3240410  MICROSWITCH 16(4)A 250V
16A 250V for Coffee machine (VIBIEMME) DOMOBARJUNIOR

VIBIEMME MACCMICROINVB VIBIEMME ELETMICREKIRI



\ ) (/
VIBIEMME %
Suitable or: Suitable for:
Motors

1240702 MOTORRPM WITH CLAMP CONNECTION 165W
model 11002728
power supply 165W 230V 50/60Hz
capacitor 10 pf
for rotary vane pump
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME ELETMOT22

1240375 RPM CLAMP MOTOR 100W
model C004311
power 100W 220/230V 50/60Hz
capacitor 7 mf
for rotary vane pump
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBIEMME ELETMOTRPM304

Non-return and expansion valves

1720010 EXPANSION VALVE ¢ 1/4"M 8-12 bar

for high temperatures - viton seal

for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION

LOLLO - REPLICA - REVOLUTION

VIBIEMME ASSVALVESPEVO

1523028 NON-RETURNVALVE @ 1/8"M-1/8"M
for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER

VIBIEMME VALVNORITDOM

1523023 TRIANGULARNON-RETURN VALVE
0 6.5/12 mm - overall height 20.5 mm
for non-return valve
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
KOMETA - MERCURY - MINIMAX - REPLICA - SILVER

VIBIEMME ASSVALVNONRIT

1720011  TRIANGULAR NON-RETURN VALVE
9 7/12 mm - overall height 20 mm
for water inlet tap
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
LOLLO - REPLICA - REVOLUTION

VIBIEMME VALVNORITEVOL

Nozzles for coffee groups

1501560 BREW GROUP SPRAY NOZZLE ¢ 21 mm Méx1
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
LOLLO - MINIMAX - SILVER

VIBIEMME RACCSPGRKO

1501561 GROUP SPRAY NOZZLE ¢ 30 mm M10x1
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - MERCURY - REPLICA - REVOLUTION

-

/\\ .r

o = 7

VIBIEMME RACCSPGR



Suitable for:

VIBIEMME

Suitable for:

O-Ring and ORM gaskets

1786295 GASKET ORM 0170-20 EPDM

for water inlet tap

for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION

LOLLO - REPLICA - REVOLUTION

O

VIBIEMME GUARORVALESPE

1186854  O-RINGEPDM R5

O

VIBIEMME GUARSASTRUEV

1786286 O-RING R4 EPDM

for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION

LOLLO - REPLICA - REVOLUTION

O

VIBIEMME GUARORASRUCEV

1186556  O-RING R6 EPDM

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME GUARRG

1186422 O-RINGO108 EPDM
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
KOMETA - MERCURY - MINIMAX - REPLICA - SILVER

O

VIBIEMME GUAROR108

1186591  O-RING 0128 VITON
for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

O

VIBIEMME GUAROR128

1786292 O-RING0161BROWN VITON
for delivery group sheath
for Coffee machine (VIBIEMME) REPLICA

O

VIBIEMME GUAROR161VPIS VIBIEMME GUOROR161VPIS

1786287 O-RING0162 BLACKVITON
for lever coffee group
for Coffee machine (VIBIEMME) REPLICA

O

VIBIEMME GUAROR1G2VPIS VIBIEMME GUAROR162VPIS




Suitable for:

VIBIEMME %@

Suitable for:

1186612 0-RING 02025 VITON
for Coffee machine (VIBIEMME) CHIMAERA - CUBO

DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA

LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBIEMME GUARRS5

1186318 O-RING 03043 EPDM
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
MINIMAX - REPLICA

VIBIEMME GUARASRUMER

1186236 0-RING 03043 VITON

for Coffee machine (VIBIEMME) KOMETA - MERCURY

SILVER

O

VIBIEMME GUAROR113

VIBIEMME GUARASRDMER

Paper seals

1190001 PAPERSHIM ¢ 73x59x0.8 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION

SILVER
| Fi
MAT

VIBIEMME

1190002 RUBBER SHIM ¢ 73x59x1 mm EPDM
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME

Pins

1324048 CAMROD FOR COFFEE GROUP
for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEMME RACCALCAGR

1324013  DELIVERY VALVEPIN
for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

=

VIBIEMME RACCPEVAER




Cpf

)| ‘/‘P

’ VIBIEMME
Suitable for: Suitable for:
1324164 LEVER GROUP ARTICULATION PIN ¢ 10x40 mm 1324162 PINFORINLET TAP

for Coffee machine (VIBIEMME) REPLICA

VIBIEMME PERNOCEGRPIST

length 46 mm
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
LOLLO - REPLICA - REVOLUTION

0/

VIBIEMME RACCASTCAREVO

1324163 PIN FORINLET TAP

length 46 mm
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS

MINIMAX - REPLICA

VIBIEMME ASTARUBCARICO

5052820 PINFORTAP
length 35 mm
for Coffee machine (VIBIEMME) LOLLO

VIBIEMME RACCASTRUBVLO

1324008 SPINDLE FORWATER/STEAM TAP
for Coffee machine (VIBIEMME) MERCURY

M

VIBIEMME RACCASRUMER94

1324033 SQUAREPIN12.1mm 6x6 mm M3
for Coffee machine (VIBIEMME) KOMETA - MERCURY
SILVER

VIBIEMME RACCGAVAERQU VIBIEMME RACCGAVAINQU

1324086 TAP HANDLE SPINDLE
for Coffee machine (VIBIEMME) CHIMAERA - CUBO

REPLICA

VIBIEMME RACCASRUREP

1324165 TAPPIN
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA

MINIMAX - REVOLUTION - SILVER

VIBIEMME RACCASTRUBEVO

1349471 TAPPIN
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

VIBIEMME RACCGUIASTEVO VIBIEMME RACC3FRUBKO

1324026 TAP SPINDLE
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - REPLICA

VIBIEMME RACCPEAPVA




VIBIEMME %
Suitable for: Suitable for:
1324044 TAP SPINDLE 1324094 TRIANGULARINFUSIONPIN
for Coffee machine (VIBIEMME) KOMETA - MERCURY for Coffee machine (VIBIEMME) CUBO - DOMOBAR
SILVER DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

VIBIEEMME RACCASRUMER

VIBIEMME RACCPEINTR

1324066 WATER/STEAM TAP PIN 1548018

for Coffee machine (VIBIEMME) KOMETA

VIBIEMME RACCASTARUBK

WATER/STEAM TAP PIN

length 52 mm

for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER

VIBIEMME RACCASRUDOSU

Pipes for coffee machines

1550006 INJECTORPIPE@ 1/4"M -65 mm 1550007  INJECTORPIPE @ 1/4"M-1/4"M-1/4"M
pipe 8 8 mm - length 65 mm pipe 8 8 mm - length 60 mm
for Coffee machine (VIBIEMME) CUBO - DOMOBARSUPER for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
DOSAPLUS - EVOLUTION - KOMETA - MERCURY KOMETA - MINIMAX - REPLICA - SILVER
MINIMAX - REPLICA - REVOLUTION - SILVER
VIBIEMME RACCP430 VIBIEMME RACCP731
Pressure gauges
1245073 BOILER PRESSURE GAUGE ¢ 40 mm 0+4 bar 1245002  BOILER PRESSURE GAUGE ¢ 41 mm 0+2.5 bar

single scale 0+4 bar - fitting ¢ 1/8"M

frame 9 47 mm - body 9 40 mm

for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER - LOLLO

VIBIEMME MANMDOE40025

single scale 0+2.5 bar - connection g 1/8"M
rim ¢ 50 mm - body 8 41 mm
for Coffee machine (VIBIEMME) DOMOBARSUPER

VIBIEMME MANMSEM




4 VIBIEMME

Suitable for: Suitable for:

1245066 BOILER PRESSURE GAUGE ¢ 49 mm 0+2.5 bar 1245016  BOILER-PUMP PRESSURE GAUGE ¢ 60 mm
single scale 0+-2.5 bar - connection ¢ 1/8"M double scale 0+-2.5/0=15 bar - connections ¢ 1/8"M
frame ¢ 57 mm - body ¢ 49 mm rim ¢ 65 mm - body 8 60 mm
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION for Coffee machine (VIBIEMME) MERCURY - MINIMAX
LOLLO - REPLICA - REVOLUTION

VIBIEMME MANMDOE40025K VIBIEMME MANM49025GHI VIBIEMME MANMA49025GHIR VIBIEMME MANMDOTNVBM

1245017 BOILER-PUMP PRESSURE GAUGE ¢ 63 mm 1245072 PUMP PRESSURE GAUGE ¢ 40 mm 0+16 bar
double scale 0+2.5/0=-16 bar - connections ¢ 1/8"M single scale 016 bar - fittings ¢ 1/8"M
rim ¢ 70 mm - body ¢ 63 mm frame 9 47 mm - body 9 40 mm
for Coffee machine (VIBIEMME) EVOLUTION for Coffee machine (VIBIEMME) DOMOBARJUNIOR

REVOLUTION DOMOBARSUPER - LOLLO

VIBIEMME MANMKO VIBIEMME MANMDOE40016

1245001 PUMP PRESSURE GAUGE 6 41 mm 016 bar 1245074  PUMP PRESSURE GAUGE ¢ 41 mm 0+16 bar

single scale 016 bar - connections ¢ 1/8"M single scale 016 bar - connection ¢ 1/8"M
rim ¢ 50 mm - body 41 mm frame 9 44 mm - body 9 41 mm

for Coffee machine (VIBIEMME) DOMOBAR for Coffee machine (VIBIEMME) DOMOBAR

VIBIEMME MANMSEM16 VIBIEMME MANMSEM42016

1245067 PUMP PRESSURE GAUGE ¢ 49 mm 0+16 bar
single scale 016 bar - connection ¢ 1/8"M
frame ¢ 57 mm - body ¢ 49 mm
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
LOLLO - REPLICA - REVOLUTION

o

>

VIBIEMME MANMDOE40016R VIBIEMME MANM49016GHI VIBIEMME MANM49016GHIR



VIBIEMME &

Suitable for: Suitable for:

Pressure switches

1320533 MEMBRANEKIT FORPRESSURE SWITCH 1320541  PRESSURE SWITCH PARKER
model P302-6 ¢ 55 mm CEI-UL approved

connection g 1/4"
scale 0.5+1.4 bar
differential 0.18+0.03 bar
maximum pressure 2.1 bar
maximum temperature 140°C
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBIEMME VIBIEMME

1320025 PRESSURE SWITCH PS14.010.2-0.9 BAR 1/4" 1320531  PRESSURE SWITCH P302/6 3-POLES 30A
connection g 1/4"M - 15A 250V CE-SEV-ASE-UL approved
for Coffee machine (VIBIEMME) DOMOBAR ISO 228 G connection 1/4"M for pipe @ 4x6 mm
DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS adjustable scale 0.5+1.4 bar
KOMETA fixed differential 0.15 (= 0.06) bar
fluid temperature max :140°C
max contact load : 220V 7KW (30A)
400V 12KW (30A)
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBIEMME ELETPREDOMSU VIBIEMME ELETPRE

1320023 PRESSURE SWITCH XP1101250.5-1.5BAR 1/
connection g 1/4"M - 21A 125/250V
for Coffee machine (VIBIEMME) DOMOBAR
DOMOBARSUPER

VIBIEMME ELETPREDSUKIR



o VIBIEMME
Suitable for: Suitable for:
Probes
1397059 TEMPERATURE PROBE ¢ 1/4"M
fitting @ 1/4" - bulb 8 6x25 mm
for Coffee machine (VIBIEMME) CHIMAERA
DOMOBARSUPER - REPLICA
VIBIEMME ELETSONTEMPII VIBIEMME ELETSONTEMPPI
Relays
1351022 STATICRELAY 25A 240V INPUT 3/32VDC
for Coffee machine (VIBIEMME) DOMOBARSUPER
VIBIEMME RELESTATICODS
Rotary switches

1057035 SELECTORSWITCH 0-2 POSITIONS 16A 300V
square pin 5x5 mm
for Coffee machine (VIBIEMME) DOMOBARSUPER

VIBIEMME ELETCOMDOMSUP

1319036  SELECTORSWITCH 0-2 POSITIONS 20A 690V
square pin 5x5 mm
for Coffee machine (VIBIEMME) DOMOBARSUPER
DOSAPLUS - KOMETA - MERCURY - MINIMAX - SILVER

VIBIEMME ELETCOM

1057034 SELECTORSWITCH 0-3 POSITIONS 16A 300V
square pin 5x5 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
EVOLUTION - REPLICA - REVOLUTION

VIBIEMME ELETCOMA4STADI



VIBIEMME
Suitable for: Suitable for:
Rubberpieces for steam-water taps
1187501 BURNPREVENTING PIPE HANDGRIP 6 8 mm
for Coffee machine (VIBIEMME) CHIMAERE - CUBO
REPLICA
VIBIEMME GOMMALANCIAVA
Shower screens for brew group
1081601 PRECISION SHOWERNANOTEC 660 mm 1460201  PRECISION SHOWER SCREEN ¢ 60 mm
non-stick NANOQUARTZ coating 98 holes ¢ 3 mm
increases the resistance to corrosion Aisi 304 stainless steel - food-safe certified
and to chemical reaction integrated membrane 200 pM
98 holes @ 3 mm for GROUPS E61
steel Aisi 304 - foodsafe certified for Coffee machine (VIBIEMME)
integrated membrane 200 pm
for E61 GROUPS
A" 4
VIBIEMME LF-1081401 VIBIEMME VIBIEMME
1460206 PRECISION SHOWER SCREEN ¢ 60 mm 1081516 SHOWER ¢ 60 mm
120 holes @ 2.5 mm for Coffee machine (VIBIEMME) CHIMAERA - CUBO
Aisi 304 stainless steel - food-safe certified DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
wire membrane 35 pM DOSAPLUS - EVOLUTION - KOMETA - LOLLO
for GROUPS E61 MERCURY - MINIMAX - REPLICA - REVOLUTION
for Coffee machine (VIBIEMME)
VIBIEMME VIBIEMME
1081016 SHOWER SCREEN ¢ 60 mm 1081116  SHOWER SCREEN ¢ 60 mm

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION

VIBIEMME FILTDCREGR

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME FILTDCREGR




o VIBIEMME
Suitable for: Suitable for:
1081216 SHOWER SCREEN ¢ 60 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
VIBIEMME
Solenoid valves
1120332 COILLUCIFER/PARKER 220/240V 9W 50Hz 1120361  COIL PARKER YB09220/230V 9W 50/60Hz
width 32 mm - height 38 mm width 34 mm - height 32 mm
length 43 mm length 42 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER
VIBIEMME VIBIEMME ELETB03V
3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz 1120259  SOLEN.VALVEPARKER 2 WAYS 230V 50/60Hz
width 34 mm - height 33 mm VE146.3KV - fittings @ 1/4"FF - max 10 bar
length 43 mm VITON seal - orifice ¢ 4.5 mm
for Coffee machine (VIBIEMME) with coil ZB14 14W 220/230V 50/60Hz
fluid temperature -10°C+140°C
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
LOLLO - REPLICA
VIBIEMME VIBIEMME ELETELE2A2245
1120260 SOLENOID VALVEODE2WAY ¢1/8"230V 8W 1120280 SOLENOID VALVEODE 3 WAYS 110V

VITON seal - orifice @ 1.5 mm
with coil BDA08223DS 220/230V 50/6Hz 8W
temperature -10°C+140°C

for Coffee machine (VIBIEMME) CUBO - DOMOBARSUPER

DOSAPLUS - KOMETA - MINIMAX - REPLICA - SILVER

VIBIEMME ELETELE2VAU22

VIBIEMME

corpo in TECNOPOLIMERO PPS

tenuta in RUBINO - orifizio @ 1,5 mm

attacco CONICO

con bobina BSA08110DS 110V 50/60Hz 14,5VA
temperatura fluidi -40°C +180°C

certificata NFS




VIBIEMME

Suitable for: Suitable for:

1120192 2-WAY SOLENOID VALVE ODE 230/240V 8W 1120334  3-WAY MECHANICAL COMPONENT LUCIFER
TECNOPOLIMER PPS body E131F4304G - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.5 mm RUBY seal - orifice g 1.5 mm
with coil BDV08230AY 230/240V 50/60Hz 16VA fluid temperature -30°C+140°C
temperature -40°C +180°C
NSF certified

i
&

VIBIEMME ELETELE2VBAEV VIBIEMME

1120339 3-WAY MECHANICAL COMPONENT PARKER 1120101  3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
VE128IR - drain @ 1/8" conical - max 10 bar VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm RUBY seal - orifice 1.3 mm
fluid temperature -30°C+140°C with coil ZB0O9 9W 110/120V 50/60Hz
for Coffee machine (VIBIEMME) CHIMAERA - CUBO fluid temperature -40°C+140°C

DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBEMME ELETCOELE VIBIEMME

1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz 3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz
VE128IR - drain ¢ 1/8" conical - max 10 bar width 34 mm - height 33 mm
RUBY seal - orifice 1.3 mm length 43 mm
with coil ZB09 9W 220/230V 50/60Hz for Coffee machine (VIBIEMME)

fluid temperature -30°C+140°C

VIBIEMME VIBIEMME

1120339 3-WAYMECHANICALCOMPONENT PARKER
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice @ 1.3 mm
fluid temperature -30°C+140°C
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBIEMME ELETCOELE



v VIBIEMME

Suitable for: Suitable for:

1120349 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz 1120361 COIL PARKER YB09220/230V 9W 50/60Hz
VE128IR - drain ¢ 1/8" conical - max 10 bar width 34 mm - height 32 mm
RUBY seal - orifice 1.3 mm length 42 mm
with coil YBO9 9W 220/230V 50/60Hz for Coffee machine (VIBIEMME) CHIMAERA - CUBO
fluid temperature -30°C+140°C DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
for Coffee machine (VIBIEMME) CHIMAERA - CUBO LOLLO - MERCURY - MINIMAX - REPLICA
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA REVOLUTION - SILVER

LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBIEMME ELETELE3VCAB VIBIEMME ELETBO3V

Spouts for coffee

1022522 ADJUSTABLELONG DOUBLE SPOUT ¢ 3/8" 1022523  ADJUSTABLE SHORT DOUBLE SPOUT ¢ 3/8"

2>

-

VIBIEMME VIBIEMME

1022103 CHROME-PLATED EXTENSION F/SPOUTS ¢ 3/8" 1022504 CLOSED SINGLE SPOUT ¢ 3/8"
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION

SILVER
a
VIBIEMME RACCP864 VIBIEMME
1022502 DOUBLESPOUT g 3/8" 1022521 LONGDOUBLESPOUT ¢ 3/8"

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME FILTBEC2T VIBIEMME




Suitable for:

VIBIEMME

Suitable for:

1022501 SINGLESPOUT ¢ 3/8"
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
DOSAPLUS - EVOLUTION - KOMETA - LOLLO
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER

VIBIEMME FILTBECIT

1022503  STRAIGHT SINGLE SPOUT ¢ 3/8"

-

)

VIBIEMME

1022551 TRIPLESPOUT ¢ 3/8"

VIBIEMME

5031337  1-CUPSTRAIGHT SHORT SPOUT ¢ 3/8"

ot

VIBIEMME

Springs

1250348 SPRING ¢ 10.5x29.3 mm STEAM PIPE

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA

MINIMAX - REVOLUTION - SILVER

MWW

VIBIEMME MOLLTUVA VIBIEMME MOLTUVARUBEVO

1250362 SPRING ¢ 10.8x30 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBAR - DOSAPLUS - MERCURY - REPLICA

WAV

VIBIEMME MOLTUVA

1250151 SPRING ¢ 12x15 mm FOR STEAM PIPE
for Coffee machine (VIBIEMME) KOMETA

VIBIEMME MOLLASNODORKO

1250356  SPRING ¢ 13x27 mm STEAM TAP
for Coffee machine (VIBIEMME) LOLLO

AWV

VIBIEMME MOLLARAVUPLO

————

VIBIEMME MOLLARUVAPLO

1250536 SPRING ¢ 13x42 mm

for Coffee machine (VIBIEMME) CUBO - DOMOBARJUNIOR

DOMOBARSUPER - REPLICA

WV

VIBIEMME MOLLVAER

1250349  SPRING ¢ 14.5x28 mm INLET TAP
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
LOLLO - REPLICA - REVOLUTION

U

VIBIEMME MOLLAASTESPRE




(\» | / )(:

’ VIBIEMME
Suitable for: Suitable for:
1250515 SPRING ¢ 14x33 mm 1250537  SPRING ¢ 14x45 mm

for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - KOMETA
MERCURY - MINIMAX - REPLICA - SILVER

VIBIEMME MOLLSC

for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

IAAAAAVYM

VIBIEMME MOLLVAIN

1250521 SPRING ¢ 15x17 mm 1250516  SPRING ¢ 15x28 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) CUBO - DOMOBAR
DOSAPLUS - REPLICA DOMOBARJUNIOR - DOMOBARSUPER - REPLICA
VIBEMME MOLLPGRUBACVA VIBIEMME MOLLPRGO
1250202 SPRING ¢ 8x30 mm 1250354  SPRING FORLEVER GROUP
for Coffee machine (VIBIEMME) CHIMAERA - CUBO external 8 49 mm - height 150 mm
DOSAPLUS - EVOLUTION - KOMETA - LOLLO for Coffee machine (VIBIEMME) REPLICA
MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER
VIBIEMME MOLLAVALVNORE VIBEMME MOLLCOVANORIT VIBIEMME MOLLSF VIBIEMME MOLLAGRANDEPI
1250355 SPRING FORLEVER GROUP 1250415  TAP SPRING ¢ 10x32 mm

external @ 34 mm - height 142 mm
for Coffee machine (VIBIEMME) REPLICA

o~

VIBIEMME MOLLAPICCOLPI

VIBIEMME MOLLAASTAREVO

for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

WAAMAYY

VIBIEMME MOLLAASTARUBK

1250157 TAP SPRING ¢ 12.5x30 mm
for Coffee machine (VIBIEMME) KOMETA - MERCURY
SILVER

VIBIEMME MOLLVA VIBIEMME MOLLVALVRUBME



Suitable for:

VIBIEMME

Suitable for:

Steam taps and spares for coffee mach.

5052818 BUSHING FORPIN 5058055 BUSHING TAP WATER/STEAM

¢ 18 mm - hole  12.5 mm - height 5 mm 2 15/9 mm - height 10/4 mm

for Coffee machine (VIBIEMME) LOLLO for Coffee machine (VIBIEMME) LOLLO
VIBIEMME RACCINSRUBLOL VIBIEMME RACCPASTINRLO
1548011 CHROME-PLATED NUT FORTAP 1548019  COMPLETE STEAM TAP

nut ¢ 1/2"F - height 20 mm - key 26 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

=
N

VIBIEMME RACCPRGOCR

for Coffee machine (VIBIEMME) DOSAPLUS - REPLICA

D

VIBIEMME RACCRUBVAMEIN VIBIEMME RACCRUBVAMER

1548022 COMPLETE STEAMTAP
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

VIBIEMME RACCRUBVAKNEW

1548020 COMPLETE WATER TAP
for Coffee machine (VIBIEMME) DOSAPLUS - REPLICA

VIBIEMME RACCRUBACMEIN

1548012 GASKETHOLDER
for water/steam tap
dimensions @ 10.5/9x6x4.6 mm
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

N,
\.} = r"'f“.

VIBIEMME RACCRUSASREVO

1186122 GASKETHOLDERFORTAP
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - REPLICA

VIBIEMME RACCVARU

1523075 GASKETHOLDERFORTAP
for tap water/steam
length 25 mm
for Coffee machine (VIBIEMME) LOLLO

VIBIEMME ASSVALVCARICO

1548016 LHCOMPLETE STEAM TAP
for Coffee machine (VIBIEMME) CUBO - REPLICA

A

VIBIEMME RACCRUBVARESX




Suitable for:

VIBIEMME

Suitable for:

1548017 LHCOMPLETE STEAM TAP

5058054 NUT CHROMED FOR TAP

for Coffee machine (VIBIEMME) CHIMAERA - REPLICA for Coffee machine (VIBIEMME) LOLLO

e

VIBIEMME RACCRUBVARESK

A

VIBIEMME RACCDAFISSRLO

1548014 RHCOMPLETE STEAM TAP
for Coffee machine (VIBIEMME) CUBO - REPLICA

VIBIEMME RACCRUBVAREDX

1548015 RHCOMPLETE STEAM TAP
for Coffee machine (VIBIEMME) CHIMAERA - REPLICA

7

VIBIEMME RACCRUBVAREDK

1186670 STEAM PIPE ARTICULATION BUSHING ¢ 12x5mm
external @ 12/9 mm - internal @ 7 mm
thickness 5/1.8 mm
for Coffee machine (VIBIEMME) KOMETA

VIBIEMME RACCBUSASTSNK

1348213  STEAM PIPE BUSHING
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX
REPLICA - REVOLUTION - SILVER

VIBIEMME RACCBULASF

1348057 STEAM TAP
fittings o 3/8"

VIBIEMME RACCRUBVAREP

1348843  STEAM TAP
conical connection g 1/4"
for Coffee machine (VIBIEMME) DOSAPLUS - REPLICA

VIBIEMME

1548013 STEAM TAP
for Coffee machine (VIBIEMME) DOMOBAR

VIBIEMME RACCRUBSC

1348842  STEAM TAP ASSY
for Coffee machine (VIBIEMME) REPLICA

VIBIEMME RACCP724




VIBIEMME
Suitable or: Suitable for:
1548021 STEAM/WATERTAP 1349352  TAP COUPLING
for Coffee machine (VIBIEMME) LOLLO for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - KOMETA - MERCURY - MINIMAX
REPLICA - SILVER
VIBIEMME ASSRACCRUBLOLLO VIBIEMME RACCPOSTMER
1349353 TAP COUPLING 1186322 TAPROD BUSHING
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOSAPLUS - REPLICA DOSAPLUS - REPLICA
VIBIEMME RACCANTMER VIBIEMME RACCPRGOST VIBIEMME RACCBUPGACVA
1548023 TAP WATER/STEAM 1548032  WATER/STEAM TAP

for Coffee machine (VIBIEMME) DOMOBARJUNIOR
DOMOBARSUPER

VIBIEMME RACCRUBDOMSUP VIBIEMME RACCRUBDOVACR

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
REPLICA

VIBIEMME RACCRUBACREP

Steam-water pipes coffee machines

5057693 COMPLETE CHROME-PL.STEAM PIPELH@8 mm 1549037 COMPLETELH STEAM PIPEg 8 mm
pipe length 255 mm pipe length 330 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) REPLICA
REPLICA
/\,
VIBIEMME TUBILANCVASX VIBIEMME TUBILANCVASK VIBIEMME TUBILANCVASXK
1549036 COMPLETERH STEAM PIPEg 8 mm 1549041 COMPLETEST.STEEL STEAM PIPERH ¢ 10 mm

pipe length 330 mm
for Coffee machine (VIBIEMME) REPLICA

="

VIBIEMME TUBILANCVADXK

VIBIEMME TUBILANCVADX

pipe length 255 mm
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
REPLICA

..c/\

VIBIEMME TUBILANCVADXI




)

s, VIBIEMME

Suitable for: Suitable for:
1449860 COMPLETE STEAM PIPE@ 8 mm 1549038 COMPLETESTEAMPIPEg 8 mm
pipe length 240 mm pipe length 260 mm
for Coffee machine (VIBIEMME) DOSAPLUS - MERCURY for Coffee machine (VIBIEMME) DOMOBARJUNIOR
REPLICA DOMOBARSUPER
VIBIEMME TUBIVALF VIBIEMME TUBILADOMSU
1449304 COMPLETE WATER PIPE 1449857 COMPLETE WATER PIPE
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) REPLICA
DOMOBARJUNIOR - DOMOBARSUPER - LOLLO - REPLICA
~ ‘;‘w;;.;\\\\\ e
2 U
VIBIEMME TUBIP727 VIBIEMME
1549039 COMPLETEWATERPIPE9 8 mm 1449016 NOZZLEFORSTEAM ¢ 1/8"F 4 HOLES
pipe length 150 mm for Coffee machine (VIBIEMME) CHIMAERA - CUBO
for Coffee machine (VIBIEMME) DOSAPLUS - MERCURY DOSAPLUS - EVOLUTION - KOMETA - LOLLO
REPLICA MERCURY - MINIMAX - REPLICA - REVOLUTION
SILVER
€
b . ) \
Y
@) % ’
VIBIEMME TUBIACSF VIBIEMME RACCBUROVA
1549034 PIPESTEAM COMPL.ST.STEELRH@ 10 mm 1449366  STEAM PIPE COMPLETE
pipe length 510 mm for Coffee machine (VIBIEMME) REPLICA
for Coffee machine (VIBIEMME) LOLLO
N
S \
\" =
VIBIEMME TUBILANVADXKI VIBIEMME TUBIVALFDKONW VIBIEMME TUBIVALNVADXKI VIBIEMME
1549035 STEAMPIPECOMPLETELH@ 10 mm 1449064 STEAM PIPE COMPLETE STAINLESS STEEL ¢ 8

pipe length 510 mm
for Coffee machine (VIBIEMME) LOLLO

(]

VIBIEMME TUBILANVASXKI VIBIEMME TUBIVALFSKONW

pipe length 240 mm
for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
MINIMAX - REVOLUTION - SILVER

VIBIEMME TUBIVALFREVEV




VIBIEMME

Suitable for: Suitable for:

1549040 STEAM SPRINKLER ¢ 1/8"F 2 HOLES 1449332 WATERPIPENOZZLE
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (VIBIEMME) DOSAPLUS - LOLLO
REPLICA MERCURY - REPLICA

Fd
VIBIEMME RACCBUROVA2FO VIBIEMME RACCBUROAC VIBEMME RACCRBUROAC
Switches

3319529 BIPOLARSWITCH BLACK 10A 250V 3319501 PUSH-BUTTON PROTECTION CAP

16(4)A 250V - max. temperature 120°C external dimensions 29x36 mm

mounting hole 22x30 mm - silk screen printing O - for switches with mounting hole 22x30 mm

for Coffee machine (VIBIEMME) SILVER
VIBIEMME ELETINTBIPSIN VIBIEMME MACCCOVPVCVB
1319594 BIPOLARSWITCH BLACK 250V 1319005  BIPOLARSWITCH 16A 250V

mounting hole 28x28 mm for Coffee machine (VIBIEMME) DOMOBARSUPER

for Coffee machine (VIBIEMME) DOSAPLUS - REPLICA EVOLUTION - REPLICA - REVOLUTION

L\ \‘w
\v‘

VIBIEMME ELETPULCMDOM VIBIEMME ELETPULBIPDOR
1319561 BLACKBIPOLAR SWITCH 16A 250V

mounting hole 28x28 mm

for Coffee machine (VIBIEMME) KOMETA - MERCURY

MINIMAX

I )

VIBEMME ELETPULCMDOMT
3319296 BLACKBIPOLAR SWITCH 16A 250V 3319501 PUSH-BUTTON PROTECTION CAP

with red led indicator light external dimensions 29x36 mm

max temperature 120°C for switches with mounting hole 22x30 mm

mounting hole 22x30 mm

9

VIBIEMME MACCIN250LAVB VIBIEMME MACCCOVPVCVB




., VIBIEMME

Suitable for: Suitable for:

1319591 DOUBLE BIPOLAR SWITCH BLACK 250V 1319593  LEVER SWITCH 16A 250V
with led indicator lamps threaded fitting 12 mm
silk screen 0 - cup for Coffee machine (VIBIEMME) DOMOBARJUNIOR

mounting hole 22x30 mm
for Coffee machine (VIBIEMME) LOLLO

VIBIEMME ELETPULINTKOR VIBIEMME ELETINTLEVMET
1319595 OVAL CHROMED PUSH-BUTTON 17x12.5 mm 1319590 PUSH-BUTTON PANEL 2 BUTTONS
for Coffee machine (VIBIEMME) DOMOBARSUPER for Coffee machine (VIBIEMME) LOLLO

EVOLUTION - REPLICA - REVOLUTION

VIBIEMME ELETPULTASCRD VIBIEMME ELETPUL1LED2T
1319139 PUSH-BUTTON PANEL 5 BUTTONS 1319148 PUSH-BUTTON PANEL 5BUTTONS
for Coffee machine (VIBIEMME) DOSAPLUS for Coffee machine (VIBIEMME) DOMOBARSUPER

MERCURY - MINIMAX

VIBIEMME ELETPULSLEDAL VIBIEMME ELETPULILED VIBIEMME ELETPUL1LEDAL
1319149 PUSH-BUTTON PANEL 5 BUTTONS 1319440 PUSH-BUTTON PANEL 5BUTTONS
for Coffee machine (VIBIEMME) KOMETA for Coffee machine (VIBIEMME) EVOLUTION
REVOLUTION

VIBIEMME ELETPUL1LEDKO VIBIEMME ELETPUL1LEDNE
1319589 PUSH-BUTTON PANEL 5 BUTTONS 1319588 PUSH-BUTTON PANEL 6 BUTTONS
for Coffee machine (VIBIEMME) LOLLO for Coffee machine (VIBIEMME) CUBO - REPLICA

VIBIEMME ELETPULSLED5T VIBIEMME ELETPUL6T VIBIEMME ELETPUL6T1LDT




VIBIEMME %@

Suitable for: Suitable for:

3319501 PUSH-BUTTON PROTECTION CAP 3319948  RED BIPOLARSWITCH 16A 250V
external dimensions 29x36 mm 16(4)A 250V - with indicator light
for switches with mounting hole 22x30 mm max temperature 120°C

mounting hole g 25 mm
for Coffee machine (VIBIEMME) DOMOBAR - DOSAPLUS
KOMETA - MERCURY - SILVER

VIBIEMME MACCCOVPVCVB VIBIEMME ELETINTALUSE VIBIEMME ELETINTGLUSE VIBIEMME ELETINTVLUSE

Tampers for coffee

1385002 NYLON COFFEE TAMPER ¢ 50/57 mm

VIBIEMME PRESSINO

Thermostats

1444049 SINGLE-PHASE THERMOSTAT TR/86

covered capillary 1600 mm

bulb ¢ 6.5x90 mm

for Coffee machine (VIBIEMME) DOMOBAR

DOMOBARJUNIOR
VIBIEMME ELETTEDOMJU2B

Tools

1505002 EXTRACTORFORFILTERS.STEEL WITH HOLE 3394906 TELESCOPICKIT ¢ 30x165 mm

extension overall length 485 mm

¢

T —

VIBIEMME VIBIEMME



v VIBIEMME

Suitable for: Suitable for:

Vibrating pumps

1349276 BYPASSFITTINGS ¢ 1/8"M-1/8"F 1331023 SQUAREDAMPER EX-EP-EK-EA
for Coffee machine (VIBIEMME) DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER

VIBEMME ASSBYPASS VIBEMME ASSBYPASSNEW VIBIEMME ANTISUPGOPODO

1331019 VALVES2 1122601  VIBRATORY PUMP EX541W 120V 60Hz
back pressure self-priming fittings ¢ 1/8"- ¢ 6 mm
for Coffee machine (VIBIEMME) DOMOBARJUNIOR pressure max 15 bar
DOMOBARSUPER water temperature max 20°C

integrated diode (1N 4007P)
lead connector 6.3x0.8 mm
NSF-approved

VIBIEMME VALVCONTRPRES VIBIEMME POMPVIBDOM100 VIBIEMME POMPVIBDOM120

1122735 VIBRATORY PUMP EX548W 230V 50Hz
fittings 0 1/8"- ¢ 6 mm
pressure max 15 bar
water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm
for Coffee machine (VIBIEMME) DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER

VIBIEMME POMPVIBDOM

Vibration insulators for motors

1026005 DAMPER@ 25%x21 mm Mé
for Coffee machine (VIBIEMME) CHIMAERA - CUBO
DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
LOLLO - MERCURY - MINIMAX - REPLICA
REVOLUTION - SILVER

VIBIEMME ANTIAMMMOT



VIBIEMME %

Suitable for: Suitable for:

Water containers for OCS HORECA

1680002 WATER CONTAINER
max overall dimensions 196x155x98 mm
for Coffee machine (VIBIEMME) DOMOBAR
DOMOBARJUNIOR - DOMOBARSUPER

VIBIEMME MATECVAACDO

Water filling taps
1186131 GASKETHOLDERFORTAP 1348051 INLETTAPBODY
external @ 17/8,6 mm - internal 8 6 mm for water inlet tap
height9.2/5.6 mm for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
for inlet water tap KOMETA - MERCURY - MINIMAX - REPLICA - SILVER

VIBIEMME RACCPOGVAESE VIBIEMME RACCCOVAES
1358013 NUT ¢ 3/8"F FORDRAIN TAP 1348059  WATERINLET TAP
for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
LOLLO - REPLICA - REVOLUTION KOMETA - MERCURY - MINIMAX - REPLICA - SILVER

VIBIEMME RACCDA3BANTEV VIBIEMME ASSRUBCAANMER
1348381 WATERINLET TAP 1358010  WATERINLET TAP
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
MINIMAX - REPLICA LOLLO - REPLICA - REVOLUTION

VIBIEMME RACCRUBCAAAMN VIBIEMME RACCRUBCAACME VIBIEMME RACCRUBCAACMN VIBIEMME RACCRUBCARLOL VIBIEMME RACCRUBCARNEW



c\f

)w/ﬁ
4 VIBIEMME
Suitable for: Suitable for:
Water softeners and accessories
3010001 MANUAL WATER SOFTENER 8L ¢ 3/8" 3010161  MANUALWATER SOFTENER8 L ¢ 3/8"
for water treatment for TECHNICAL purposes for water treatment for TECHNICAL purposes
STAINLESS STEEL cylinder capacity 8 L plasma welding
connection 3/8" STAINLESS STEEL cylinder capacity 8 L
dimensions: height 400 mm - ¢ 185 mm connection 3/8"
resin content 5.8 L dimensions: height 400 mm - ¢ 185 mm
regeneration salt(NaCl-table salt)1 Kg resin content 5.8 L
regeneration salt(NaCl-table salt)1 Kg
inlet water maximum temperature 60°C
F N
VIBEMME VIBIEMME
3010112 RESINSL 3010299  SALEPERADDOLCITOREIN PASTIGLIE 10 Kg
5 litre bag PER IMPIANTI DI ADDOLCIMENTO ACQUA
VIBIEMME VIBIEMME

3010300 SALTFORWATERSOFTNER IN TABLETS 25 Kg
FOR WATER SOFTENING SYSTEMS

VIBIEMME



The data herewith contained may change without notice and LF SpA cannot be
held responsible for possible errors stated or resulting by the use of this document.
All rights reserved. No part of this publication may be reproduced without written
permission by LF SpA.

Distributing Components, Spare Parts & Accessories
in original quality worldwide

LF SpA HEADQUARTERS

via Voltri, 80 - 47522 Cesena (FC) ITALY

Tel. +390547 34 11 11 -Fax+390547 3411 10
www.lfricambi724.it -info@lfricambi.it

Export Dept. Tel. +39 0547 34 11 50 - Fax +39 0547 34 11 55
www.lfspareparts724.com - export@lfspareparts.com

LF SpA HOUSEHOLD COMPONENTS DIVISION

Via Padriciano, 99 - AREA Science Park - 34149 Trieste (TS) ITALY
Tel. +39 0547 34 12 42 - Fax +39 0547 34 12 48
www.lfspareparts724.com - info@lfspareparts.com

EPGC Sas FRANCE

13, Rue des Forts - 59960 Neuville en Ferrain

Tel. +33 (0)3 20 2506 21 - Fax +33 (0)3 202534 12
WWW.epgc.com - epgc@epge.com

LF GmbH GERMANY

Junkersstrasse, 3 - D-82178 Puchheim - Miinchen
Tel. +49 89 89 45 78 66 - Fax +49 89 89 4578 88
www.lfersatzteile724.de - info@lfersatzteile.de

LF China REPUBLIC OF CHINA

Room 403, No.2, Huadu Mansion, Lane 422, Huanghua Rd.
Minhang Dist. - 201103 Shanghai

Tel. +86 (0)21 33 53 66 31 - Fax +86 (0)21 33 53 66 32
www.lfspareparts724.com - china@lIfspareparts.com

000 LF RUSSIAN FEDERATION

Ul. Anatoliya Zhivova, 8 - office 1 - 123100 Moscow
Tel./Fax +7 495725 26 53
www.lfspareparts724.ru - info@lfspareparts.ru

AUSTRALIA AND NEW ZEALAND
www.Ifspareparts724.com
andrea.calvio@lfspareparts.com

AUSTRIA
www.Ifersatzteile724.at
info@lfersatzteile.at

BALKAN COUNTRIES
www.lfspareparts724.com
matija.ramov@lfspareparts.com

BALTIC COUNTRIES
www.Ifspareparts724.com
inara.silina@lfspareparts.com

@ LF Repuestos Horeca S.L.U. SPAIN

Poligono Industrial Carpetania - C/Miguel Faraday, 8 - 28906 Getafe
Tel. +34 91 477 91 00 - Fax +34 91 477 90 81
www Ifrepuestos-horeca724.es - info@lfrepuestos.es

LF Scandinavia Aps - LF Spareparts S.p.A. DENMARK
Nupark, 51 - 7500 Holstebro

Tel. +457070 77 33

www lfspareparts724.dk - denmark@lfspareparts.dk

LF SpA Cesena (IT) Swiss Branch Steinhausen SWITZERLAND
Sennweidstrasse, 45 - CH-6312 Steinhausen

Tel. +41 (0)41 760 15 80/1 - Fax +41 (0)41 760 1585

www .Ifersatzteile724.ch - info@lfersatzteile.ch

LF Spare Parts Ltd. UNITED KINGDOM

A10a Lakeside Business Park, Broadway Lane

South Cerney, Gloucestershire GL7 5XL

Tel. +44 (0)1285 86 16 25 - Fax +44 (0)1285 86 39 49
www.lfspareparts724.co.uk - info@lfspareparts.co.uk

LF Central Est Europe S.r.0. CZECH REPUBLIC
Antala Staska 1859/34

14000 Praha 4 - KRC

Tel. +420730 156 910

www.lfspareparts724.cz - info@lfspareparts.cz

LF SPARE PARTS INC. USA

Legal address:

155 Office Plaza Dr - Suite A - Tallahassee, FL 32301
Business/Mailing address:

1100 South Tower, 225 Peachtree St., N.E. - Atlanta, GA 30303, USA
Tel. +1-404-525-2600 - Fax +1-404-586-3528
www.lfspareparts724.us - info@Ifspareparts.us

Tel. West Coast and Midwest: 206-349-1525 Sauro

Tel. East Coast and the Caribbean: 786-817-1764 Luis

LATIN AMERICA AND THE CARRIBEANS
www.|frepuestos-horeca724.es
export@lfrepuestos.es

POLAND
www.lfspareparts724.pl
info@lIfspareparts.pl

SOUTH KOREA
www.lfspareparts724.com
fabio.doni@lfspareparts.com

TURKEY
www.Ifyedekparca724.com
export@lfspareparts.com



	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

